ESARA

Japanese Technology since 1912

3 SERIES Data Book 50Hz




CENTRIFUGAL PUMPS

3 SERIES

CONTENTS

50Hz

- SPECIFICATION

SPECIFICATION
SPECIFICATION
SPECIFICATION
PERFORMANCE RANGE
SELECTION CHART
TYPE KEY

PERFORMANCE CURVE SPECIFICATIONS

MEI INDEX SPECIFICATIONS

PERFORMANCE CURVE 32-125
PERFORMANCE CURVE 32-160
PERFORMANCE CURVE 32-200
PERFORMANCE CURVE 40-125
PERFORMANCE CURVE 40-160
PERFORMANCE CURVE 40-200
PERFORMANCE CURVE 50-125
PERFORMANCE CURVE 50-160
PERFORMANCE CURVE 50-200
PERFORMANCE CURVE 65-125
PERFORMANCE CURVE 65-160
PERFORMANCE CURVE 65-200
PERFORMANCE CURVE 65-250
PERFORMANCE CURVE 80-160
PERFORMANCE CURVE 80-200
PERFORMANCE CURVE 80-250

- CONSTRUCTION
SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3(.)M 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LMZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3LMZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LM 80-160/11

SECTIONAL VIEW DRAWING 3LM 80-160/15R/15/18.5
SECTIONAL VIEW TABLE 3LM 80-160

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50

SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200
SECTIONAL VIEW TABLE 3(.)S 32, 40, 50, 65-125/160/200

Rev.Y

Page

200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223

300
301
302
303
304
305
306
307
308
309

SECTIONAL VIEW DRAWING 3LSZ 32, 40-125/160, 40-200/5.5/7.5

50-125/160, 50-200/9.2, 65-125, 65-160/7.5/9.2
SECTIONAL VIEW DRAWING 3LSZ 40-200/11,
50-200/11/15, 65-160/11/15, 62-200

SECTIONAL VIEW TABLE 3LSZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LS 80-160

SECTIONAL VIEW TABLE 3LS 80-160

SECTIONAL VIEW DRAWING 3LS 65-250, 80-200/250

310

311
312
313
314
315

100

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONTENTS 50Hz
Rev.Y
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250 316
SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200 317
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200 318
SECTIONAL VIEW DRAWING 3LP 80-160 319
SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250 320
SECTIONAL VIEW DRAWING 3LP 65-250, 80-160/200/250 321
SECTIONAL VIEW TABLE 3LP 80-160 322
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250 323
BEARINGS 3(.)M 324
BEARINGS 3(.)S-3(.)P 325
MECHANICAL SEAL (standard, H and special version) 326
MECHANICAL SEAL (L version g 22) 327
MECHANICAL SEAL (L version g 30-35) 328
MECHANICAL SEAL (HS version and special version g 22) 329
MECHANICAL SEAL (HS version @ 30) 330
MECHANICAL SEAL (HW, HSW, E and special version) 331
MECHANICAL SEAL (ES version) 332
COUPLING 333
FLEXIBLE COUPLING 334
FITTINGS 335
FITTINGS 336
- DIMENSIONS

DIMENSIONS 3(.)M 32, 40, 50, 65-125/160 400
DIMENSIONS 3(.)M 50-200, 65-160/15, 65-200 401
DIMENSIONS 3LMZ 32, 40, 50-125/160/200/9.2/11,
65-125/160/7.5/9.2/11 402
DIMENSIONS 3LMZ 50-200/15, 65-160/15, 65-200 403
DIMENSIONS 3LM 80-160/11 404
DIMENSIONS 3LM 80-160/15R/15/18.5 405
DIMENSIONS 3(.)S 32, 40, 50 406
DIMENSIONS 3(.)S 32, 65 407
DIMENSIONS 3(.)S 40, 50, 65 408
DIMENSIONS 3(.)S 32, 40, 50, 65 409
DIMENSIONS 3LSZ 32-125/160, 32-200/3/4,

50-125/2.2, 65-125/4 410

DIMENSIONS 3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5,
50-125/3/4, 50-160 50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2 411
DIMENSIONS 3LSZ 40-200/11, 50-20011/15,

65-160/11/15, 65-200 412
DIMENSIONS 3LS 80-160 413
DIMENSIONS 3LS 65-250, 80-200/250 414
DIMENSIONS 3LS 80-200/30/37, 80-250/45 415
DIMENSIONS 3LS 80-250/55 416
DIMENSIONS 3(.)P 32, 40, 50, 65 417
DIMENSIONS TABLE 3(.)P 32, 40, 50, 65 418
DIMENSIONS 3LP 65-250,80 419

101

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONTENTS 50Hz
Rev.Y
DIMENSIONS 3LP 80-200/30/37, 80-250/45 420
DIMENSIONS 3LP 80-250/55 421
PACKING 3(.)M 422
PACKING 3(.)S 423
PACKING 3(.)P 424

- TECHNICAL DATA

MOTOR DATA 3(.)M 500
MOTOR DATA 3(.)S-3(.)P 501
NOISE DATA 3(.)M 502
NOISE DATA 3(.)S-3(.)P 503

102

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION

50Hz

Rev. Y

Version

3M

38

w
)

3LM

3LMZ 3LS 3LSZ 3LP

32-125

32-160

32-200

40-125

40-160

40-200

50-125

50-160

Pump sizes

50-200

65-125

65-160

65-200

J|S|S ||| |3|3|5|3|3 |5

3|33 |3|3|s|3|3|s|3|3 |

3|3|3|3|3|3|3|3||3|3|3

SISO T IO (T (O (T O
SISO T IO (T (O (OO

65-250

80-160

80-200

80-250

| 2
>

B Available also with H, HS, HW, HSW, E, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG, U3U3CEGG version.

U3U3EGG not available for model 65-160/15 and 65-200

® Available also with H, HW, HSW, E, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG, U3U3EGG version.

U3U3EGG available for model 32, 40, 50, 65-125 and 65-160/7.5/9.2/11

A Available also with H, HW, HSW, ES, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG version.

=— Not available.

O Available only standard version.

200

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION

50Hz

Rev. Y
PUMP
Version 3M 38 3P [ 3Lm2) 3LS(2) 3LP
Clean water and moderately aggressive fluids
Type of liquid / Drinking water and water contains glycol for
E and ES version
Liquid min. -10 min. -10
Handled min. -20 (E version) min. -20 (E and ES version)
Temperature r°Cl max. +90 (Standard-Q1AEGG-U3U3EGG- | max. +110 (Standard-Q1AEGG-U3U3EGG-
P Q1Q1EGG-Q1U3EGG,U3CEGG) Q1Q1EGG-Q1U3EGG,U3CEGG)
max. +110 (H-HS-HW-HSW version) max. +110 (H-HW-HSW version)
max. +120 (E version) max. +120 (E and ES version)
Maximum working pressure [MPa] 1
Closed centrifugal type for 32, 40, 50 version
Impeller Reinforced laser welding for 40-200/11, 50-200/15
Constructi Closed centrifugal three dimensional blades for 65 and 80 version
onstruction . Mechanical seal with stationary ring
Shaft seal type Mechanical seal : -
secured against rotation
Bearing Sealed ball bearing
32-125/160/200 Flange DN50 according DIN 2532 Standard
40-125/160/200 .
Suction 50-125/160/200 Flange DN65 according DIN 2532 Standard
65-125/160/200/250 Flange DN80 according DIN 2532 Standard
Pipe 80-160/200/250 Flange DN100 according DIN 2532 Standard
Connection 32-125/160/200 Flange DN32 according DIN 2532 Standard
40-125/160/200 Flange DN40 according DIN 2532 Standard
Discharge 50-125/160/200 Flange DN50 according DIN 2532 Standard
65-125/160/200/250 Flange DN65 according DIN 2532 Standard
80-160/200/250 Flange DN80 according DIN 2532 Standard
32-125/160/200
40-125/160/200
o 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
asing 65-125/160/200
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200
40-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
| I 50-125/160/200
mpeiler 65-125/160/200 CF8M - EN 1.4408 (AISI 316)
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200
40-125/160/200
Cosi 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
asing cover 65-125/160/200
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200 .
Material 40-125/160/200 Coramic/Carbon/NER SiC/SiC/FPM (L version)
Mechanical seal gg:ggﬂggggg (For version see page 327+333)
65250 (For version see page 327+333)
80-160/200 /
80-250 SiC/Carbon/EPDM (ES version) [2]
O-ring NBR [1] FPM [3]
32, 40, 50,
65-125 d=19
65-160/11
50-200/15 =20 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
65-160/15 _
Shaft 65-200 gm2
65-250 d=24 EN 1.4462 (Duplex stainless steel)
80-160 d=24
80200122 a4 / EN 1.4404 (AISI 316L)
80-200/30-37 d=24 .
80-250 d=29 EN 1.4462 (Duplex stainless steel)
Bracket Cast iron - Aluminium

Applicable standard of test

1SO 9906:2012 — Grade 3B

[1] FPM for H-HS-HW-HSW version / EPDM for Q1AEGG, U3U3EGG, Q1Q1EGG, Q1U3EGG, U3EGG
[2] ES option only for 80-250 2 poles @35
[3] EPDM for E-ES version and for Q1AEGG, U3U3EGG, Q1Q1EGG, Q1U3EGG, U3CEGG

201

=TV T

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION 50Hz
Rev. Y
MOTOR
3LM(Z) | 3()S(2) [ 3()P
Type Electric - TEFC
Single Phase Three Phase
- IE2 from 1.1 KW up to 5.5 kW
Efficiency level (Reg. 640/2009) / IE3 from 1.1 KW up to 55 kW
No. of Poles 2
Rotation speed [min"] ~ 2900
Insulation Class F | F (temperature rise class B)
Protection degree (CEI EN 60034-5) IP 55
Power ratin [KW] 1.1+22 1.1+22 1.1+55
9 [HP] 15+ 3.0 1.5+ 30 15+75
Frequency [Hz] 50
230/400 +£10% (up to 4.0 kW)
o
Voltage V] 230 £10% 400/690 +10% (5.5 kW and above)
Over load protection Provided by the user
Casing material Aluminium
Motor support Cast iron - Alluminium
PG13.5 M32x1.5
: . PG16 M40x1.5
Dimensions of cable entry M20x1.5 PG21 M50x1.5

M20x1.5, M25x1.5

3(.)S IMB5 (up to 2.2 kW)
Flange mount (IEC motor) / IMB35 (3 kW and above) | IM B3
3LSZ IM B35
202

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

SELECTION CHART 50Hz

Rev. Y

PERFORMANCE RANGE

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

120
- 350
100
HEER - 300
65~ . 25
h & X SRR % 250 H
[m] = 05~250/30 =g \\T‘o\?o“o ' [#t]
m L Iy L —— I N o7
60 3‘2~|20|o/ f~5 mee Tol\200/77\7 O~200 Idb\ﬁe . 200
| "™ 51 |11, LS5 655 D
50 3‘2 ~ A timmy- U] i SHEHE 5 2005 J AN
~200/40 | TR 1L 22N 2005 N o DN 2 N e\ -
N ity 5 0, YR85 [N e
40 ‘ | N T 7 Jo ///_)_‘%\ ™N db\ \
2200 e o0 & X
_290/30 0, s B 7, N D
— -SSR DS e TN PN 20
32-160/2 = ) SN SN2
30 o e Rt S N RN 100
32‘160/]5 i N 6‘0/‘\ N/ (o) {?J‘
) TS K N ON 2 \0\ \ 75
- ., i A RN\ X
20 ] 6‘% ‘lk\ 6% “‘T/)-J\ ‘%\/{3‘\
TR NN E RN NCVHENEN
N 5 /é loP\ \
h N \?}\ TN J/y\kf_ i\ /;3\ “’é 13,/;:‘\ 50
15 N Y AR NENED Wi\ i %
N, N AN IEAW b S\
\ 2 N 2 \ A L 40
/ COVETIEANIA AN
=7 PAVE: PAN
10 b A\ v A
9 ) s L\ — 30
3 \ /
- 25
! [
6 f / / / - 20
5 / / )
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
[ I T T 1 I I I T 1 I I I I I I I [ I ]
6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150 200 300
Q[m /h]

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

SELECTION CHART 50Hz

Rev. Y
SELECTION CHART
3 SERIES: 32, 40, 50 Version
Power )
Pump type I/min O | 100 | 150 | 200 | 300 | 333 | 360 400 450 500 600 700 800 | 1000 | 1200
(kW] | [HP] m3¥h 0 6 9 12 18 20 22 24 27 30 36 42 48 60 72
32-125/1.1(M) * 11| 15 225 21 | 19.9]| 18.4 | 14.1 12 - - - - - - - - -
32-160/1.5(M) * 1.5 2 29.5| 28 | 26.5|24.5| 19.2 17 - - - - - - - - -
32-160/2.2(M) * | 2.2 3 37| 35.5| 34 32 27 25 - - - - - - - - -
32-200/3.0 3 4 44| 42 40 | 375 31 28 - - - - - - - - -
32-200/4.0 4 5.5 55| 53.5| 52 | 495 | 435 | 405| 38 - - - - - - - -
32-200/5.5 55| 7.5 70.5| 69 | 67.5| 65 | 58.5 - - - - - - - - - -
32-200/7.5 75| 10 705/ 69 | 67.5| 65 | 58.5 | 55.5| 53 49 44 - - - - - -
40-125/1.5(M) * 15 2 20| - - 19 | 176 17 16.5 | 157 | 145 | 13.2 | 10.3 7 - - -
40-125/2.2(M) * | 2.2 3 26.5| - - | 255 24 |235| 23 22 21 19.5 | 16.4 13 - - -
40-160/3.0 3 4 31 - - |295| 275 | 27 | 26,5 | 255 24 225 20 17 - - -
40-160/4.0 4 5.5 40| - - | 385] 37 36 | 355 | 345 33 32 29 25.5 - - -
40-200/5.5 55| 75 47| - - | 455 44 43 | 425 41 39.5 38 35 31 - - -
40-200/7.5 75 | 10 58| - - 57 | 55,5 | 55 | 545 | 53.5 | 525 51 47.5 44 - - -
40-200/11 11 15 72| - - 71 70 70 | 69.5 | 68.5 | 67.5 66 63 59 - - -
50-125/2.2(M) * | 2.2 3 19| - - - - - - 17.5 17 16.3 | 149 | 134 | 11.7 8 -
50-125/3.0 3 4 22| - - - - - - 20.5 20 19.6 | 184 17 154 | 11.8 8
50-125/4.0 4 5.5 26.5| - - - - - - 26 255 25 24 225 | 215 | 179 14
50-160/5.5 55| 7.5 33| - - - - - - 31 30.5 30 28.5 27 255 22 18
50-160/7.5 75 | 10 40| - - - - - - 38.5 38 37.5 36 35 335 30 26
50-200/9.2 9.2 | 125 53| - - - - - - - - 50 49 475 | 455 | 405 34
50-200/11 11 15 59| - - - - - - - - 56 55 54 52 48 42
50-200/15 15 20 72| - - - - - - - - 70 69 68 66 62 57

* Single phase version only for 3M type

3 SERIES: 65, 80 Version

Pump type Power | ymin 0| 600 | 700 | 900 | 1300 | 1500 | 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000
wwi | ey | ™0 0 36 | 42 | 54 | 78 | 90 | 102 | 114 | 126 | 132 | 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240

65-125/4.0 4 55 222[198] 19 [173] 133 | 11 | 86 | 63 | - - - - - - - - - -
65-125/5.5 55| 75 271 - | 24 |222] 18 | 157 133 | 108 | 8 - - - - - - - - -
65-125/7.5 75 | 10 32[ - | 295|278| 235 | 211 | 187 | 161 | 184 | 12 | - - - - - - - -
65-160/7.5 75 | 10 32 - | 30 | 286 248 | 225] 199 | 171 | 142 | - - - - - - - - -
65-160/9.2 9.2 | 125 36.5] - | 345 328| 288 | 265 239 | 211 | 183 | 168 | - - - - - - - -
65-160/11 1] 15 405] - [385]|37.1] 331 | 309 284 | 268 | 23 | 215 | 20 | - - - - - - -
65-160/15 15 | 20 48] - [455| 44 | 40 | 378 | 353 | 326 | 296 | 28 | 265 | - - - - - - -
65-200/15 15 | 20 535 - | 51 | 49 | 44 | 415 384 | 353 | 318 | 30 | - - - - - - - -
652001185 | 185 25 605 - | 585 565] 515 | 49 | 46 | 43 | 397 | 38 | 363 | - - - - - - -
65-200/22 22 | 30 67 - | 655 64 | 595 | 57 | 54 | 51 | 48 | 465 | 45 | - - - - - - -
65-250/30 30 | 40 78] - | - | 77 | 735 71| 68 | 645 | 60 | 575 | 55 | 52 | - - - - - -
65-250/37 37 | 50 89 - | - | 88 | 855 | 83 | 805 | 775 | 74 | 72 | 70 | 675 | 65 | - - - - -
80-160/11 1] 15 20] - | - | - | 273 [ 264 254 | 242 | 23 | 224 | 218 | 211 | 204 | 164 | 125 | - - -
80-160/15R 5 | 2 32 - | - | - | 305 207 288 | 277 | 265 | 259 | 253 | 246 | 24 | 201 | 165 | 145 | - -
80-160/15 3 - | - | - | 34 |333] 325 315 | 305 | 30 | 294 | 288 | 281 | 244 | 21 | 191 | 17 | -
801601185 | 185 25 40 - | - | - | 39 |384] 376 | 367 | 357 | 352 | 347 | 341 | 335 | 30 | 264 | 244 | 223 | 20
80-200/22 2 | 30 50| - | - | - | 48 | a7 | 455 | 445 | 43 | 42 | 41 | 40 | 39 | 332 278 | 25 | - -
80-200/30 30 | 40 60 - | - | - | 585 | 58 | 57 | 56 | 545 | 54 | 58 | 52 | 51 | 465 | 415 | 39 | 361 | 33
80-200/37 37 | 50 66 - | - | - | 64 | 63| 62 | 61 | 505 | 59 | 58 | 575 | 565 | 515 | 47 | 445 | 41.5 | 385
80-250/37 37 | 50 73 - | - | - | 715 705 685 | 665 | 64 | 63 | 615 | 60 | 585 | 485 | 38 | - - -
80-250/45 45 | 60 84 - | - | - |25 |815| 80 | 78 | 76 | 75 | 735 | 725 | 71 | 62 | 53 | 48 | 425 | -
80-250/55 55 | 75 95| - | - | - | 935 | 925| 915 | 90 | 885 | 875 | 865 | 855 | 84 | 765 | 685 | 645 | 60 | 55

204

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS

50Hz

Rev. Y
[s]lelIm|[z][#H][8]-[]/[15]R]|][M] [QAEGG |
Q1AEGG
U3U3EGG
SPECIAL MECHANICAL SEALS Q1Q1EGG
Q1U3EGG
U3CEGG
SINGLE PHASE ONLY
REDUCED IMPELLER
1.1 HP 1.5
1.5 HP 2
2.2 HP 3
3 HP 4
4 HP 5.5
5.5 HP 7.5
7.5 HP 10
9.2 HP 12.5
POWER CODE 11 HP 15
15 HP 20
18.5 HP 25
22 HP 30
30 HP 40
37 HP 50
45 HP 60
55 HP 75
125
IMPELLER CODE 160
200
250
32
40
DISCHARGE SIZE 50
65
80
H
HS
OPTIONS MECHANICAL SEAL HW
HSW
E
ES
PUMP CASING WITHOUT FOOT (only for version 3LM and 3LS 32, 40, 50, 65-125/160/200)
M
MODEL TYPE S
P
For versions 32, 40, 50 AISI 304 *
65-125/160/200 AISI 316L L
For versions 65-250 , 80 AlSI 316 L
3 SERIES
*) No indication

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. Y

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?/s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P2 = pump power input (shaft power)

n pump efficiency
NPSH net positive suction head required by the pump
MEI minimum efficiency index

206

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. Y

MEI INDEX SPECIFICATION

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the best
efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point,leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variabile duty points may be more efficient end economical when
controlled, for example, by the use of a variable speed drive that matches the pump duty to the system.

MEI = 0.4 for ESCC 2900 rpm MEI=0.7 for ESCC 2900rpm

| 22N

Y

flow Q [m¥%h

= °

i

Y r U T T T T T T T T T T T T 1
10 20 30 40 50 60 70 80 90 100
specific speed ns [rpm]

20 30 40 50 60 70

8
8
8

MEI = 0.4 for ESOB 2900 rpm MEI = 0.7 for ESOB 2900rpm

=/

" T T T T T T T T T T 1
10 20 30 40 50 60 70 80 920 100
specific speed ns [rpm]

specific speed ns [rpm]

207

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

32-125/1.1 (1.1kW) MEI > 0.40 — impeller diameter = 133 mm

0 USgpm 0 n Iy 5Q) B il Bl B0 100
| | | | | | | | | | |
I I I | I | |
__ 0 impgam, 20 30 40 50 B 7D a0
ju |
‘ -
P
H - [, N
[m] ] N
i — = ‘?
-]__‘E.-"rn'_r
! B
o
)
-
15 e s
"lhhx
[P
L &0
10
Wecy — 30
[m] [#]
§=}=20=20
? I i‘ 15
IFSH —— e Fer il 10
-—-_. -
= - ]
1
0 0
0 50 100 150 00 250 00 550 0 [1,/min]
I | I | | I I I | I |1 .
0 3 g £ A 10 12 1 16 I 20 2 0[]
K
Fa
S
k] 12511
08 = -
04
] 50 10 150 0 ok | i) 350 & [1/min]
fi
. EEESNEEEEEEEEENN
&0 - 125,/1.1
5|:| -E"'.
.rl"-‘.r
40
R
0 50 100 150 00 250 00 550 0 [1,/min]

Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B

208

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Y
32-160/1.5 (1.5kW) MEI > 0.70 — impeller diameter = 151 mm
32-160/2.2 (2.2kW) MEI > 0.70 — impeller diameter = 166 mm
0 WSgpm 0 n di EQ B F ED 50 100
I | I | I | I | | | | I | I | I |
0 lrggam, 20 30 4 ] B0 0 a0
0 } 130
H = - i H
[m] 35 ] [f]
= 1 110
<1
ful | —10a
B Tt -
] - . e
" <=L 5 =
B . LB
- TR
| [m] [#]
- Lo
I 5
T ‘ ::1]
15 5 |5' 50
PSH 31
= T s ®
10 l I I !
0 50 100 150 200 250 0 350 0 [1/min]
I 1 I I 1 I 1 I 1 I
i 2 i E E 10 12 1 15 18 20 32 0 [mi]
o ' 0 4,
F2 20 1]
(4] 16 1 1'EI::,-"'E
1.2 :___ T
0.4 '
0 50 100 150 00 2850 1% 350 0 [1/min]
T
. [TT]
- - 160,/2.2
[%] &0 = 1r::t-?'£.:
P i
8 =
|+
a0 |
0 50 100 150 0 250 0 350 0 [Ifmin]
Rotation speed = 2900 min-’!
Test standard: 1ISO 9906:2012 - Grade 3B
209

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE S50Hz
Rev. Y
32-200/3 (3.0kW) MEI > 0.70 — impeller diameter = 186 mm
32-200/4 (4.0kW) MEI > 0.70 — impeller diameter = 200 mm
32-200/5.5 (5.5kW) MEI > 0.70 — impeller diameter = 224 mm
32-200/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 224 mm
0 Wigpm 20 X Al a0 £ Fi &0 i 100 i priy 130
| | | | 1 1 | | 1 | |
0 n'p.g.:h.!n. a0 0 4 50 0 70 a0 50 100 Ha
&0 — 30
H — 140 H
[m] 70-+=r= = [f]
L — 220
‘-..‘_"_ A
i) "\-'-Iﬂ
. -..-'-n_::*:':{ij L 900
<
— = = o+ — 180
. ] B
= ™ ‘_'E"i;,: a ::':'“@f:} — 160
] <
RN e NFEH L 940
40 = s [m] [#]
=] {-ﬁ-rﬁ-.l 8 [ 120
a4 -
W0 T ot T
nEb i
HFSH - -
— 24 [0
m | |
] 5 100 150 200 250 m 350 400 £50 0 [1fmin]
I 1 I 1 I | I I I I | I
o 2 4 & E D2 4 15 B 2 2 M F 23 Q[mim)
8
: [TTT1 [ 1]]
o . 200,55 L 200,/7.5
kW] 1
4 T il 200/4.0
=1 ST 1
2 1 ﬁl .flJIIJ ..I Isl. I:II |
0 5 100 150 200 0 BT 350 &0 50 0 [1fmin]
o ERENEEN 200740 [ 111
I i} s .?[lﬂl.-"?..:.l
Eh =BT T 1 o00/5.5 | 200/
40 .-_,.—5="'"
3 =S
0
0 50 100 150 200 20 m 350 00 50 0 [1fmin]
Rotation speed = 2900 min-’
Test standard: 1ISO 9906:2012 - Grade 3B
210

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Y
40-125/1.5 (1.5kW) MEI > 0.70 — impeller diameter = 125 mm
40-125/2.2 (2.2kW) MEI > 0.70 — impeller diameter = 140 mm
0 USgpm ETy i Bl 100 120 140 160 180 200
I | I I | I | | | | I | I | I |
0 hrpgam. 40 &l &l 100 120 140 180
” mpug.pum &
g0
H — =t . || H
[m] 25 —~_| 1t gy ]
b 18 -::'_‘_:'
ey _“. e
i o i s h"‘"'\-....
. — e | it
- "Ii.JS
5 =
15 ""J-,_H - — 50
-&H g
I 4 |
P —
b 7 (] (1] 30
"'1- . o
[
S0
3 15
NPSH . T | I4mb0
- 5
a | . . D
i 100 o0 500 40 500 ] 100 0 [1,/min]
I 1 | 1 1 | 1 | 1 ] 1 .
i i B 12 16 20 el 78 33 R hy 84 0 [mih)
3
. 1]
AR
) 2 e T \25/2.2
| - 135,157
i
o 100 el 300 400 500 GO0 700 G [1,fmin]
&
T —
[x] 70 fﬁ =] St 125,091
--.._L& £/
e 1]
Ea
d "N 125/1.5]
o L] |
0 100 el 500 4 500 B0 700 0 [1,/min]
Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B
211

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

40-160/3 (3.0kW) MEI > 0.70 — impeller diameter = 151 mm
40-160/4 (4.0kW) MEI > 0.70 — impeller diameter = 166 mm

0 USgpm 40 B0 i 104 120 14 16l 180 0
| I | | | I | | | | I | | | I |
0 imggpem. 4D Bl Bl 100 120 140 1&d
— 140
H H
(m] % 11 - 14 [f]
s 120
3 0%,
[~ — 110
o = ™ — 100
30 =] e
. . _ﬂr:'
H‘lrlflﬂ.-r"#?r
[ = L
B =L — B
T
]
s WeSH = TD
@ =L [m] [#]
[“s) = G0
= = =
“ 50
* FSH - j :; .
—f:--' . =%
15
10 I '
il 100 20 300 400 500 B0 700 o [1/min]
1 | I 1 | 1 | I 1 | | .
il i B 12 16 20 el I8 32 % 'y 84 0 [mih)
5
| [ 11
Fz 4 160,/4.04—
[k#] —— —t—1
3 == 160,/3.077
2 —
| |
il 130 0 500 400 £00 B0 70 0 [1/mia)
- L[]
" B0,
| —— ] ] .I,'l'._l_l-_
[x] 70 T | 160,/3.0
-
& ?F‘f
A
50
il 1030 g0 300 400 500 B0 700 o [1fmin]
Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B
212

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

40-200/5.5 (5.5kW) MEI > 0.70 — impeller diameter = 183 mm
40-200/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 200 mm
40-200/11 (11kW) MEI > 0.70 — impeller diameter = 224 mm

0 USgpm 40 G0 B 100 120 140 16 180 0
| | | | | | | |
I I 1 1 I | I
0 kpgpm, 4D &0 BO 100 120 140 160
250
H H
[m] 70 + L 200 /13 2 [f]
=
_‘1.._‘- .
~== 20
£0 [
=1 159
100 /7 5
I---"‘--.
- 17
= ""‘--..___.‘5_
— 17 — = =] 150
==cR
4 o WPSH g3
~= [m] [f]
= ¥ i
=t » — 111
3 3 5
Fsi L1 = s L%
=L,
il | T
i 100 00 300 o0 500 BO0 700 o [1/min]
1 1 1 1 1 1 1 | .
i i 8 12 1 20 7 78 k1) % 4 8 0 [mih)
2 | 11
Pz 10+ = 200,/117
e | I I B
(4] : 200,/7.5
200,/5.5—
4 T [ 11 [
P | | | 11
0 100 200 300 400 500 B0 700 0 [1fmia)
=] | | T 1
Mo 200/7.51
[%] =
=) -ﬂ._,ﬁ- [
50 200/5.5 =TT
40 200,11~
- L 11
0 100 700 300 400 500 B00 700 o [1min]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B
213

% E2ARA EBARA PUMPS EUROPE SpaA.



3 SERIES

CENTRIFUGAL PUMPS

PERFORMANCE CURVE S50Hz
Rev. Y
50-125/2.2 (2.2kW) MEI > 0.50 — impeller diameter = 126 mm
50-125/3 (3.0kW) MEI > 0.50 — impeller diameter = 131 mm
50-125/4 (4.0kW) MEI > 0.50 — impeller diameter = 140 mm
0 USgpm 50 100 150 200 250 0 380
| | | | | |
- II:I mELgpam, ‘IEI 100 1:'I|':I .'-':II-E ‘F'Elh'! _‘EIIIF:I
H — = | | H
[m) 25 I ot []
‘-..:E:”:F‘f{_: [
——= -] ‘--“"1
m ; = e
-1 L e 50
i = ey, =
- I
15 25 TN
, P l
T P, Lan
T e
10 . P
HESH
1 (m] [tt]
i} -0
3 —~— ; 15
NPSH - i "
1o
e
15
o 0
0 200 400 500 BOD 1000 1200 0 [1min]
0 10 0 m 0 = & 7 o [m 3]
B
. ]
:I-.'ﬂ'] 1 R —— |EI5|.II'1I'I:'
—— — 125,/3.0
2 125/2.2
. -
0 00 400 500 800 1000 1200 0 [1min]
&0
T T ——f—— |
- =" —
o #"r" Tl | | [ Esfan
EQ ™ HF"'-.
125/2.2 4 175,/30
= [ | | |
0 00 400 800 B0 1000 1200 0 [Imin]
Rotation speed = 2900 min-’!
Test standard: 1ISO 9906:2012 - Grade 3B
214

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

50-160/5.5 (5.5kW) MEI > 0.40 — impeller diameter = 154 mm
50-160/7.5 (7.5kW) MEI > 0.40 — impeller diameter = 166 mm

0 Wigpm 50 ] 150 200 250 Jiad 350
| | | | |
I I | ] ] 1
5 0 mgegaom, 50 1M 150 204} 50 1
- 160
H H
[m] g [
-‘-ﬂ T =T =~ =
] ot -
7 o
= L -""-,_‘_-‘-
3 [~ ! k. ™
— Eﬂ-"‘ﬂj
l'-\-‘h‘-
"‘_’-._‘_‘_‘-_ WRsH [ B0
[ [m] [1]
20 ]
] m—ﬁl}
[t
NFSH —T | .
T M
10
0 200 &00 800 B00 1000 1200 o [1fmin]
1 1 1 1
i 10 m k| 40 a0 | 7 o [m¥m]
8 —
160475
by 6 — ]
e R e e 160,/5.
4 _—
2
o 0 &00 600 800 1000 1200 0 [1fmin]
G B
! 160,/7.5
[%] 7 —— "
- 160,/5.2
=
(2] ﬁ
=
o 200 00 600 B00 1000 1200 o [1/min]

Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B

215

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

50-200/9.2 (9.2kW) MEI > 0.70 — impeller diameter = 191 mm
50-200/11 (11kW) MEI > 0.70 — impeller diameter = 200 mm
50-200/15 (15kW) MEI > 0.40 — impeller diameter = 224 mm

0 Uigpm 50 jE] 150 200 250 Jiad 350
| | | | |
I I I I I 1
O lmpgam, 50 1 150 204} 50 1
&l - 260
H 0 H
[I'"] T i s SE P —-:.______;:IE"_'--'__.-“'.‘E [‘":]
230
-]
"
£ B — 200
EEEEEn b
= — —=200/5 5 ~— 160
—— —
~=—- ~
] WREH 140
4 —h— [m] [#]
B % 120
B o
X -— -l
NFSH — 1T
—| 24 o [50
ol
i a0 400 &00 B0 V] 1200 o [1fmin]
1 1 1 1
i 10 m m 40 a0 | 70 o [mim]
18 —
20015
o -+
v '--..--
g =TT 200/t
[ — 200,/9.27
5 =t | ||
0 00 400 600 800 1000 1200 0 [1fmin]
& |
n ﬁg— —ls_-__.
200/9.21 = ,.:;# ||
&0 20N =
200415
0 —
0 200 400 600 BOO 1000 1200 o [1fmin]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B
216

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

65-125/4 (4.0kW) MEI > 0.50 — impeller diameter = 128 mm
65-125/5.5 (5.5kW) MEI > 0.50 — impeller diameter = 138 mm
65-125/7.5 (7.5kW) MEI > 0.50 — impeller diameter = 149 mm

0 USgpm, 100 200 R/ 400 500 (F3%] ]
| | 1 | | |
I I | 1 | 1 1
0 Impgpm 100 200 300 400 500 E0D
120
H H
[m] [f]
- T -0
—
— ] | "‘-._““-
™ e N2 P 80
| _ [ [y, 3
[ =l T o)
- -
- = ~J 2
- g ~L 60
[~ - i | 'GL\"
s NS ™~ .
. Ea T MF5H
a— [m] [m] 40
10 [, N P .
'-..‘. B
&=t =20
NFSH 4 .
1
!ﬂ E
0 0
0 400 A00 1700 1600 2000 00 0 [1,/min]
I T T ] ] T )
0 20 40 £0 &0 100 120 140 R
& i }
P —— 125/75
:i.'l’l] “ '_.___..--F' P | |
= — 1éafaa
4 —T = ;
125/4.0
z i 1 1
0 400 800 1200 160D F000 2400 & [1fmin)
&
n _Jvi/‘ “L:: ~-
(%] ™ R -
[, [
&0 \"'-. b, \<_12a_ﬁ E
-..H '\\ | ._..I
175 /4.0 —s S ok 5 &
) 135S
5 | I |
0 ETis] 800 1200 1B 2000 400 o [1,/min]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B
217

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

65-160/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 153 mm
65-160/9.2 (9.2kW) MEI > 0.70 — impeller diameter = 161 mm
65-160/11 (11kW) MEI > 0.70 — impeller diameter = 168 mm
65-160/15 (15kW) MEI > 0.70 — impeller diameter = 178 mm

0 Uigpm. 100 200 200 £00 SO0 [E} 700
I | I I I I
I T T ] ] T T
0 Impgem. 100 200 300 +00 500 £00
= 1E0
H H
. . i
[m] S T Ha)
=== =—] %
[ -
1 i - =12
~ — 'rlfl':jl__‘_,.- =
SN
T = = | I'IE = L
i 3 100
_"""‘--...__ {"#53_3 -
o
b '?Ifl."l -
Ly
'--"{':-'-‘5 T - Lgn
H"‘H-. ] b
=0 - -
P, ™ ]
1“"-,_ T MF=H
""'ﬂ m) 1]
gm0
10 o . 5
NFSH ] "
- = 3410 120
i
] 5
o " =
o 00 A0 1200 1600 2000 bt i ] ] [_.-"min]
I T T T T .
[u] jrix} 40 EQ B0 00 10 140 Q [n'.-"h_
16 i }
P2 e
_I-.'ﬂ'] 12 ..--"'-.- 15']_,-11
_..--"'-.-_ N, 1EC'_,I'I.EI E
-
3 E""’j:“ 160//7.5
\ - ||
o &0 L 1200 ] SO0 24 ] |_ ."'|'||i|'|J
50
n

5 s
)
VAl

-
‘qf I--. 60,15
~— "-1..____1 ~] |1E'i*” )
it B T} —
160475 | | |
0 1] OO 1200 1600 2000 2400 0 [1min]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B

b

218

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

65-200/15 (15kW) MEI > 0.70 — impeller diameter = 190 mm
65-200/18.5 (18.5kW) MEI > 0.70 — impeller diameter = 201 mm
65-200/22 (22kW) MEI > 0.70 — impeller diameter = 212 mm

0 USgpm, 100 300 K] 4o 500 (Y i)
| | 1 | 1 |
I I | | | I I
0 Impgem. 100 200 300 400 500 E00
A— — ———— 2
H = H
[m] = 3 [%]
e - P 0| - 200
- S
""‘--._ ""-.,____“
- — &0
=1L q"""‘-—.—cﬂr
- b, v_.!-__.l-?ﬁ -
= e ""1..“‘- .:i" h,-
e T H"-.,_ 10
— . e
AP n h
il 7 ]
ol 'H._h — 144
A0 .
"“=-.._~ 120
P =
[m] [
n ol '™
&
B X E'I:
|JPS| _r._'._._._...-- j -
— T
L
- T . |
i} A00 A00 1700 160 3000 3401 0 [1fmin]
I T T T T T a1
0 70 40 £ &l 100 150 140 0 [m3h]
M | gy i
— W .'I e p
Py —=——00/22
[— e ~
o] s N i 200,18.5——]
I s B = 200415
_— - il
- [ [
e
] =] _-Fr | |
0 400 800 1300 16X F000 2400 0 [1fmin]
50
n
[%] & — J00/28 ——
’ -—._.____-____‘—-—---.. -
P 200 /18.5——
T 20008
&0
i) 00 A0 1700 160 F000 400 0 [1fmin]

Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B

219

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

65-250/30 (30kW) MEI > 0.70 — impeller diameter = 235 mm
65-250/37 (37kW) MEI > 0.70 — impeller diameter = 250 mm

0 USgpm 100 00 R &0 5041 RK) mo
| | 1 | 1 |
I I | | | |
0 Impgpm, 100 200 300 400 500 O
4 — 300 K
o e e e e — i _|-_| ‘: P
[
B -“""--.‘___‘
C T T T | 25 - - 250
k)] -
""--..___‘ "‘1.““
— “-._
"1-._“-
E':l I 2':":'
[,
HEGH
[m] [#]
< [
— X
! éf_-"",x" e
MFSH - - &
_---""'...F-F 4 JEL 100
] H
Iy
rin | = =
] 400 a0 1300 1EO0) 2001 2400 o [1/min]
I I | I -
] an 40 B0 2] 100 190 140 O[]
40 o
_— 1
| 1
0 =
10
] £00 800 a0 B8 2000 2400 & [1fmia)
]
| _E—-:__ ! !
) e — E.-.ﬂ.l lIIEl--
(%] T |- - S043T
f 250,30
1]
50
] 400 a0 1700 1EO0) 2000 2400 o [1/min]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

80-160/11 (11kW) MEI > 0.70 — impeller diameter = 154 mm
80-160/15R (15kW) MEI > 0.70 — impeller diameter = 160 mm
80-160/15 (15kW) MEI > 0.70 — impeller diameter = 165 mm
80-160/18.5 (18.5kW) MEI > 0.70 — impeller diameter = 174 mm

0 USagpm. 200 400 600 800 1000 1200
| | | | | | |
[ I I I I [
0 Imp.g.p.m. 200 400 600 800 1000
50 160
H
[m] 140 4]
40 — =
~ |7 120
S MR
1 — !\‘!\‘
— 7 —100
S s ey s s ~< %015
T ~ AN
S — /6 A\,
~ & BN N - 80
20 \\/‘77 NG
\ NG 60
I DY
N NPSH
[m] [ 40
10 10
30
NPSH 8
L —] 6 20f 20
4
9 10
0 0
0 1000 2000 3000 4000 Q [1/min]
[ I I I I I ]
0 50 100 150 200 250 Q [m¥/h]
20
- _ —{ 160/18.5
/
[w] —— 160/15
o — [ 160,/15R
’/' .
T 160,/11
8 L L
0 1000 2000 3000 4000 Q [I/min]
90
n é‘:—
[%] 80 — ?\
I\ | 160/15
70 \‘ \\ |
\ N 160/18.5
160/11°N" 160/15R T |
60 — —
0 1000 2000 3000 4000 Q [I/min]

Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B

221

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. Y

80-200/22 (22kW) MEI > 0.60 — impeller diameter = 196 mm
80-200/30 (30kW) MEI > 0.60 — impeller diameter = 211 mm
80-200/37 (37kW) MEI > 0.60 — impeller diameter = 219 mm

0 USgpm 200 400 B 800 1000 1200
| | | |
I I I I I 1
0 Impgpm, 200 400 500 800 1000
— 250
H H
e ] ] "
T
—_— B
Bl —a—— —— ] <100 4 — 200
T T
=
[ S “‘""-\-..
— - ]
] HH"‘H.H""% -
" 1.0 ) ““-.‘_1 "'-...,h
o q‘\‘.,‘ R
™ -
-'.“'\ HJE*'
[m) it
i CE
- s-[- W50
i ety __.____"__.-l e "
Lt n
| o
0 ' 0
0 ] 2000 000 4000 o [1,fmin]
I I T | I T 1
o 50 100 150 200 50 0 [mim]
L] L
P ___d______J_—_—?nc /37
[w] s e 200,30
a0 =1 | | — 200722
10
0 i) 2000 1000 4000 & [1fmin]
]
1
(%] &0 Fs.—d
. Z NS
d L ~ 200 /30
£ 200,22 —
B0 L1 1 | |
0 10oa 2000 2000 4000 o [1fmin]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B
222

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Y
80-250/37 (37kW) MEI > 0.60 — impeller diameter = 230 mm
80-250/45 (45kW) MEI > 0.60 — impeller diameter = 245 mm
80-250/55 (55kW) MEI > 0.60 — impeller diameter = 259 mm
0 USgpm 200 400 B8 B0 1000 1200
| | | |
II:' Imp.gpm, ?IIII iII:'E' G600 ﬂa'.!I-E f0a0
[ '_‘l'-"--.. M
I s o e o o o 2 [#]
” B e 50 | — 250
— = = — =] — ] . .-'""’f: H"R
“‘|"=-._,=_‘__“ | - ‘"‘\R
B0 S *":I?} \\-.,* 200
P "'\.q
[ H.“
N N, 150
-~ K
0 b |
WPsH i
[m] [#]
0 B
NPSH =l s-L ks
1
— 1
L5
0 . 0
0 1000 2000 000 4000 o [1fmin]
D 50 100 150 200 50 () [rrI Fh]
n T
. 1 250/55
(k] = - 250 /45
1 = 250,37
10 [ ]
o 1000 2000 1000 4000 & [1/min)
B0
! o~ :H" N
'x'l T =1 1"\&._" "‘h._“
Pt I
@ -1 S 250,55
h |
25037 — 250 /45
=0 N T T
0 1000 2000 000 4000 o [1fmin]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B
223

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65-125/160/200

UP TO 11 kW
| 4 26 72 56 16 17 58 6 12 21
e - / /
7 i
_ 14
51
| )
— 93
32 =K |: / j
i S e i e B T = C 101
=\l

N

25 200 11 3 23518 92 19 22 42 20 13

15 kW AND ABOVE

300

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE 3(.)M 32, 40, 50, 65-125/160/200

N° PART NAME M MATE?lAL 3LM DIMENSIONS STANDARD QTY
1 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
3 |Motor bracket [9] 1
4 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
6 |Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
7 |Impeller EN 1.4301 (AISI 304) |EN1.4404(AISI 316L)[10] 1
11 |Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM [8] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 | Terminal box cover Aluminium (three phase version) 1
. [Upto 11 kW ‘ 40x21.5x3
18 | Splash ring [15 kW and above NBR / 50x29.5¢3 EBARA DRAWING 1
19 [Bearing - See table p.324 1
20 |Bearing - See table p.324 1
21 |Adjusting ring Steel C70 1
Up to 3 kW M5
2 Tie rod For4-55-7.5kW Fe 42 Galvanized Mé EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Galvanized Steel 8.8 strenght class ISO 898-1 M10x40 UNI 5739
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
26 |"0" ring 32-160, 40-160, 50-125 NBR [7] FPM 183.52x5.34 OR 6720 1
32-200, 40-200, 50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200 ' )
Up to 11 kW A 6x6x25
32 |Key 15 kW and above EN 1.4401 (AISI 316) A BX7x30 UNI 6604 1
Up to 11kW M16x1.5
34 |Impeller nut |50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
42 |Foot Aluminium / Galvanized steel EBARA DRAWING | [1]
56 |Box gasket NBR 1
58 |Fasting nut - [2]
72 |Casing ring [3]] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
73 |Casing ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Up to 3kW 25x40x7
92 |Lip seal From 4 to 7.5 kW : . 30x47X7 .DIN 376Q 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
93 |Lip seal From 5.5 kW to 7.5 kW R R 30x47X7 .DIN 376Q 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101[Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 @40 UNI 7435 1
32-125, 40-125 M 8x30 8
200|Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class 1ISO 3506/1 M 10x35 UNI 5739 4]
50-200, 65-125, 65-160, 65-200
32-125, 40-125 8.4x17 8
235|Washer 40-160, 40-200, 50-125, 50-160, EN 1.4301 (AISI 304) 10.5x21 UNI 6592 [
50-200, 65-125, 65-160, 65-201 )
206 Screw for bracket [5]] Galvanized Steel 8.8 strenght class 1ISO 898-1 M 10x40 UNI 5739 4
244|Pin [6] - [ EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request, see table p. 335-336

[1] Quantity =0 for 65-160/15

Quantity =1 for 32-40-50 and 65 up to 11kW
Quantity =2 for 65-200/15, 65-200/18.5, 65-200/22

[2] Quantity =1 up to 11kW
Quantity =2 from 15kW to 22kW

[3] For version 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5,

50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15

[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[5] For 15kW and above
[6] Only for 65-160/15 and 65-200
[7] FPM for H-HS-HW-HSW version

EPDM for E version, Q1AEGG, Q1Q1EGG, Q1U3EGG, U3CEGG, U3U3EGG

(U3U3EGG not available for 65-160/15 and 65-200)

Rev. Y

301

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

[8] Special version: see page 326 and following

[9] Cast iron EN-GJL-200-EN 1561 for 32-200/3 and models with 15, 18.5, 22 kW motor
Aluminum AL-EN-1706-AC-46000-D for all the others.

[10] CF8M — EN 1.4408 (AlSI316) material for 65-125 up to 65-200

Rev. Y

302

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz
Rev. Y
SECTIONAL VIEW DRAWING 3LMZ 32, 40, 50, 65-125/160/200
UP TO 11 kW
1 4 26 /72 18 56 16 17 58 6 12 21
1 | | i
7/
I
75@ = ™ -
32 | / iy >
+-—+-fes--— T =T
34 E j ]
o
25 200 11 3 235 50 92 19 22 42 101 20 135 15
15 KW AND ABOVE
| 206 / \ @
- 191 18 Ul
] ISk >
. f T F
s ————— +—HH e
: [ =3 BE
e O T
303

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL

PUMPS

3 SERIES

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE 3LMZ 32, 40, 50, 65-125/160/200

N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
1 |Casing EN 1.4404 (AISI 316L) 1
3 |Motor bracket [8] 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 |Shaft with rotor-Part in contact with liquid EN 1.4404 (AISI 316L) 1
7 |Impeller EN 1.4404 (AISI 316L) [9] 1
11 _|Mechanical seal SiC/SiC/FPM [7] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 |Terminal box cher Aluminium 1
. Up to 11 kW 40x21.5x3
18 |Splash ring ‘15 KW and above / 50x29 5x3 EBARA DRAWING 1
19 |Bearing - See table p. 324 1
20 |Bearing - See table p. 324 1
21 |Adjusting ring Steel C70 1
Up to 3 kW M5
22 Tie rod For4-55-7.5kW Fe 42 Galvanized M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Galvanized Steel 8.8 M10x40 UNI 5739
25 |Draing plug AIS| 316 / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
26 |"0"ring 32-160, 40-160, 50-125, 65-160 FPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200 ) )
Up to 11 kW A 6x6x25
32 |Key 15 kKW and above EN 1.4401 (AISI 316) A Bx7x30 UNI 6604 1
Up to 11kW M16x1.5
34 |Impeller nut 50-200/15 EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
42 |Foot Al / Galvanized steel EBARA DRAWING | [1]
50 |Casing foot (only from 1.1 kW to 11 kW) Galvanized steel 1
56 |Box gasket NBR 1
58 |Fasting nut - 2]
72 |Casing ring [3] EN 1.4404 (AISI 316L) 1
73 |Casing ring EN 1.4404 (AISI 316L) 1
Up to 3kW 25x40x7
92 |Lip seal From 4 to 7.5 kW R 30x47X7 _DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
. From 5.5 kW to 7.5 kW 30x47X7 DIN 3760
93 |Lip seal From 9.2 kW to 11 kW ) 40x55x7 without spring L
From 15 kW to 22 kW 45x60x7
101 [Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 340 UNI 7435 1
32-125, 40-125 . M8 8
200 |Screw 40-160, 40-200, 50-125, 50-160, S‘g:;essf‘sgte;s'&% 170 W10 UNI 5739 ”
50-200, 65-125, 65-160, 65-200
32-125, 40-125 8.4x17 8
235 |Washer 40-160, 40-200, 50-125, 50-160, EN 1.4301 (AISI 304) 10.5x21 UNI 6592 [
50-200, 65-125, 65-160, 65-201 )
206 |Screw for bracket [5] Galvanized Steel 8.8 M 10x40 UNI 5739 4+4
244 |Pin [6] EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request, see table p. 335-336

[1] Quantity =0 for 50-200/15 and 65-160/15
Quantity =1 for 32-200/7.5, 40-200/7.5/11, 50-160/7.5, 50-200/9.2/11, 65-125/7.5, 65-160/7.5/9.2/11
Quantity =2 for 65-200/15/18.5/22

[2] Quantity =1 up to 11kW
Quantity =2 from 15kW to 22kW

[3] For version 32-200/3/4/5.5, 40-200/5.5/7.5/11, 50-160/5.5/7.5, 50-200/9.2/11/15

[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[5] For 15kW and above

[6] Only for 65-160/15 and 65-200

[7] Special version: see page 326 and following

[8] Cast iron EN-GJL-200-EN 1561 for 32-200/3 and models with 15, 18.5, 22 kW motor
Aluminum AL-EN-1706-AC-46000-D for all the others.

[9] CF8M — EN 1.4408 (AISI316) material for 65-125 up to 65-200

Rev. Y

304

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

SECTIONAL VIEW DRAWING 3LM 80-160/11

15

14

13
93

12

201 42 22 220 20 2

58

101

17

4 26 3 56 16

1

7 25 76 78 235200 244 18 92 19
2004

34 32

305

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

SECTIONAL VIEW DRAWING 3LM 80-160/15R/15/18.5

75 24 77

22 20 21 93 230 201

12 13 14 15

2004

1 25 76 78 34 11 235200244 92 19

7 32 4 26 3 18 206 56 16

306

A
:

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
SECTIONAL VIEW TABLE 3LM 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
1 |Casing CF8M - EN 1.4408 (AISI 316) 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 |Shaft with rotor EN 1.4404(AISI 316L) - Wet extension 1
7 |Impeller CF8M - EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [5] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 |Terminal box cover Aluminium 1
18 |Splash ring NBR 50x29.5x3 EPE DRAWING 1
19 |Bearing - See table p. 324 1
20 |Bearing - See table p. 324 1
21 |Adjusting ring Steel C70 1
22 |Screw Galvanized Steel 8.8 strenght class 1ISO 898/1 EPE DRAWING 4
24 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
25 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
26 |"O"ring FPM 227.96x5.34 OR 6895 1
32 |Key EN 1.4404 (AISI 316L) 8x7x30 UNI 6604 1
34 |Impeller nut Aluminium M20x1.5 UNI 7474 1
42 |Foot Aluminium EPE DRAWING [1]
56 |Box gasket NBR 1
58 |Fasting nut - [2]
75 |Washer (plug) EN 1.4404 (AISI 316L) 1
76 |Washer (plug) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM [4] 1
. 11 kW 40x55x7 DIN 3760 1
92 Lip seal 15-18.5 kW - 45x60x7 without spring 1
93 Lip seal 11 kW R 40x55x7 DIN 3760 1
15-18.5 kW 45x60x7 without spring 1
101 |Snap ring (only 11 kW) Carbon tool steels TC 80 340 UNI 7435 1
zggOA gggx Stainless steel A2-70 class ISO 3506/1 m 18@2 UNI 5739 120
201 |Screw 1; k\q\/85 W Stainless steel A2-70 class ISO 3506/1 I\'/\IA162X:400 UNI 5739 1
206 |Screw for bracket (only 15 - 18.5 kW) Galvanized steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4
220 |Nut for tie rod (only 11 kW) Galvanized steel M10 4
11 kW - - - -
230 [Washer 5 185 kW Galvanized steel 13x24x2.5 UNI 6592 4
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 6592 12
244 |Pin [3] EN 1.4301(AISI 304) 4x15 1
Counterflange kit on request, see p. 335-336
[1] Quantity =1 for version 80-160/11
Quantity =2 for version 80-160/15R, 80-160/15 and 80-160/18.5
[2] Quantity =1 for version 80-160/11
Quantity =2 for version 80-160/15R, 80-160/15 and 80-16018.5
[3] Not for H and E version
[4] FPM for H, HW, HSW version
EPDM for E version, Q1AEGG, Q1Q1EGG, Q1U3EGG, U3CEGG
[5] Special version: see page 326 and following
307

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50

W
an il
Tﬁ&i’ﬁ Yt/ III
VU U Ul ,

o #
™ i

) | | |

Ly

S
s

W — T w \
= Qe |
. | = ]

nimnnn
S HE;— N | S s S — L
‘_ uuuuguuuuu
/
] ‘ — —] ] _ /
- | N_ mm / \ fanna|
T A g 1/ Y A | I —
i \ /T
73 34 32 25 200 235 72 6 42 12

308

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION

50Hz

Rev. Y
SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200

A =
i

e, B —_II; |II
nnnnnnn |

3
L]

309
=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

Rev. Y
SECTIONAL VIEW TABLE 3(.)S 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
3s | 3LS
1 |Casing EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
3 A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
6 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 333 1
7 |impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) [9] 1
11 |Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM [7] 1
12 |Motor - 1
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
26 |"0" ring gg_]gg 40-160, 50-125, NBR [8] FPM 183.52x5.34 OR 6720 1
oy b 00 b0t 227.96x5.34 OR 6895
32 |Key Up fo 11 kW EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
15 kW and above 8x7x30
Up to 11kW M16x1.5
34 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
42 |Foot Aluminium / Galvanized steel [2]
44 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 1
72 |Casing ring 18] EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) 1
73 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) 1
200 |Screw 82125, 40-125 Stainless steel A2 70 class SO 3506/1 M 8x30 UNI 5739 8
50-200, 65-125, 65-160, 65-200 M 10x35 UNI 5739 [4]
201 |Screw Galvanized Steel 8.8 strenght class ISO 898/1 M 10x16 UNI 5739 [5]
206 |Screw for bracket Galvanized Steel 8.8 strenght class 1ISO 898/1 M 10x40 UNI 5739 4
206-2 |Screw adapter ring [1] Galvanized Steel 8.8 strenght class ISO 898/1 UNI 5931 4
235 |Washer [32:125, 40-125 Stainless steel A2 70 class 1SO 3506/1 M 8417 UNI 6592 8
\50—200, 65-125, 65-160, 65-200 M 10.5x21 UNI 6592 [4]
244 |Pin [6] EN 1.4301 (AISI 304) UNI 5931 4

Counterflange kit on request see p. 335-336

[1] Only for version 65-125/5.5 and 65-125/7.5

[2] Quantity =0 for version 65-200/22

Quantity =1 for version for 32, 40, 50, 65-125/5.5, 65-125/7.5, 65-160/11, 65-160/15, 65-200/15, 65-200/18.5
Quantity =2 for version for 65-125/4, 65-160/7.5, 65-160/9.2
[3] Only for version 32-200, 40-200, 50-160, 50-200
[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[5] Only for version 32-125/1.1, 32-160/1.5, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2
[6] Only for 65-160/15, 65-200
[7] Special version: see page 326 and following
[8] FPM for H-HS-HW-HSW version
EPDM for E version, Q1AEGG, U3U3EGG , Q1Q1EGG, Q1U3EGG, U3CEGG)
U3U3EGG not available for 65-150/15 and 65-200
[9] CF8M — EN 1.4408 (AISI316) material for 65-125 up to 65-200

310

=TV T

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

SECTIONAL VIEW DRAWING 3LSZ 32, 40-125/160, 40-200/5.5/7.5
50-125/160, 50-200/9.2, 65-125, 65-160/7.5/9.2

T4 260103 44 206

753 34 32 25 200 72 235 6 050 472 1

206=2  3A

1 « AnnnanAT
‘ A
R — e,
L || ‘ UUUUUUUY
f o —Lr \DEH
,7‘@} 77777777 Lgfj

311

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

SECTIONAL VIEW DRAWING 3LSZ 40-200/11, 50-200/11/15, 65-160/11/15, 62-200

| !
' — 1 |
Pammid I
| 7000000000000
| N ‘ nnpaananANANN
A &G*éi 741 | | I B S ] |
| | | : UUUUUUUUUUUUU
Q | 0000000000000
| ‘ -
il L
244 NI I

312

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
SECTIONAL VIEW TABLE 3LSZ 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing EN 1.4404 (AISI 316L) 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
3 A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
4  |Casing cover EN 1.4404 (AISI 316L) 1
6 |Coupling - Part in contact with liquid EN 1.4404 (AISI 316L) See table p. 333 1
7 |Impeller EN 1.4404 (AISI 316L) [9] 1
11 |Mechanical seal SiC/SiC/FPM [71 1
12 |Motor - 1
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
26 |"0"ring 2312(5) 40-160, 50-125, FPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160,
50-200. 65-160. 65-200 227.96x5.34 OR 6895
32 |Key Up fo 11 kW EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
15 kW and above 8x7x30
Up to 11kW M16x1.5
34 |Impeller nut 50-200/15 EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
42  |Foot Aluminium / Galvanized steel [2]
44  |Protection EN 1.4301 (AISI 304) EBARA DRAWING 1
50 |Casing foot (only from 1.1 kW to 9.2 kW) Galvanized Steel 1
72 |Casing ring [3] EN 1.4404 (AISI 316L) 1
73 |Casing ring EN 1.4404 (AISI 316L) 1
200 |Screw 32-125, 40-125 Stainless steel A2 70 class ISO M 8x30 UNI 5739 8
50-200, 65-125, 65-160, 65-200 3506/1 M 10x35 UNI 5739 [4]
201 |Screw Galvanized Steel 8.8 M 10x16 UNI 5739 [5]
206 |Screw for bracket Galvanized Steel 8.8 M 10x40 UNI 5739 4
206-2 |Screw adapter ring [1] Galvanized Steel 8.8 UNI 5931 4
32-125, 40-125 Stainless steel A2 70 class ISO M 8.4x17 UNI 6592 8
235 |Washer
50-200, 65-125, 65-160, 65-200 3506/1 M 10.5x21 UNI 6592 [4]
244 |Pin [6] EN 1.4301 (AISI 304) UNI 5931 4
Counterflange kit on request see p. 335-336
[1] Only for version 65-125/5.5/7.5
[2] Quantity =0 for version 65-200/22
Quantity =1 for version for 32-125/160, 50-125/2.2
Quantity =2 for version for 32-200, 40-125/160/200, 50-125/3/4, 50-160/200, 65-125, 65-160, 65-200/15/18.5
[3] Only for version 32-200, 40-200, 50-160, 50-200
[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[5] Only for version 32-125/1.1, 32-160/1.5, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2
[6] Only for 65-160/15, 65-200
[7] Special version: see page 326 and following
[8] FPM for H-HS-HW-HSW version
EPDM for E version, USU3EGG, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG
U3U3EGG not available for 65-150/15 and 65-200
[9] CF8M — EN 1.4408 (AISI316) material for 65-125 up to 65-200
313

=TV T

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

50Hz

CONSTRUCTION

Rev. Y

SECTIONAL VIEW DRAWING 3LS 80-160

L %2 6L

Y00z
9 ¥l 00€ GEC

BL 8. &2

314

EBARA PUMPS EUROPE S.p.A.

=TV T



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
SECTIONAL VIEW TABLE 3LS 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD \
1 |Casing CF8M-EN 1.4408 (AISI 316)
3 |Motor bracket Cast iron EN-GJL-200-EN 1561
4 |Casing cover EN 1.4404 (AISI 316L)
6 |Coupling EN 1.4404 (AISI 316L) See table p. 333
7 |Impeller CF8M-EN 1.4408 (AISI 316)
11 |Mechanical seal SiC/SiC/FPM [3]
12 |Motor -
24 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING
25 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING
26 |"O"ring FPM [2] 227.96x5.34 OR 6895
32 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604
34 |Impeller nut EN 1.4404 (AISI 316L) M 20x1.5 UNI 7474
42 |Foot Aluminium EPE DRAWING
44 |Protection EN 1.4301 (AISI 304) EPE DRAWING
75 |Washer (plug)
76 |Washer (plug) EN 1.4404 (AISI 316L)
77 |0O-ring (plug)
78 |0O-ring (plug) FPM 2]
200 |Screw Stainless steel A2-70 M 10x35 UNI 5739
200 A|Screw class ISO 3506/1 M 10x30
235 |Washer EN 1.4301(AISI 304) 10.5x21 UNI 6592
244 |Pin [1] EN 1.4301(AISI 304) 4x15
Counterflange kit on request see p. 335-336
[1] Not for H and E version.
[2] FPM for H, HW, HSW version
EPDM for E version and Special Seals (Q1AEGG, Q1Q1EGG, U3CEGG, Q1U3EGG)
[3] Special version: see page 326 and following
315

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

SECTIONAL VIEW DRAWING 3LS 65-250, 80-200/250

n 3 3A
m/
/
/
/
!
/
_ — ﬂ;’ 1
5\ d P
ey |
- ll-I

1 34 7 32 4 26 4A

RERED

ﬁl

3

" A& \\»”’ 2 ]\

|
I =
@f.l'l fl.ll \ ."I

B
I

v

e

|
[/
{ i
I
/ .f"ll
! r /
b

Y %

424 235 200 244 B

76 78

25

Rev. Y

316

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
1 |Casing CF8M-EN 1.4408 (AISI 316) 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
3 A |Adapter ring Cast iron EN-GJL-200-EN 1561 [1]
4 |Casing cover EN 1.4401 (AISI 316) 1
4 A |Screw for casing cover EN 1.4301(AISI 304) 2
: - EN 1.4404 (AISI 316L) for 22 kW 1
65-250| d=24 mm EN 1.4462 (Duplex stainless steel) for 30-37 kKW 1
6 Coupling N - EN 1.4404 (AISI 316L) for 22 kW See table p. 333 1
80-200| d=24 mm EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
80-250| d=29 mm EN 1.4462 (Duplex stainless steel) 1
7 |Impeller CF8M-EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [6] 1
12 |Motor - 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
26 |"O"ring FPM [5] 253.36x5.34 OR 6995 1
65-250 | ._ 1
32 |Key 80-200 d=24 mm EN 1.4401 (AISI 316) Bx7x30 UNI 6604 1
80-250 | d=29 mm 8x7x40 1
. 65-250 | ,_ 1
34 'r:zfe"er 80-200 | 4724 MM EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
85-250 | d=29 mm M24x2 1
42 |Foot for motor Aluminium [2]
42 A |Foot for pump Aluminium/Galvanized steel (only for 80-250/55) EPE DRAWING [3]
75 |Washer (plug) 1
76 [Washer (plug) EN 1.4404 (AISI 316L) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM [5] 1
200 |Screw Stainless steel A2-70 class 1ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer C70 13 UNI 1751 10
244 |Pin [4] EN 1.4301(AISI 304) 4x12 1
Counterflange kit on request, see table p. 335-336
[1] Only for 65-250/37 , 80-200/37 , 80-250/37 — 80-250/45 and 80-250/55
[2] Quantity =2 for 80-250/55
[3] Quantity =2 for 80-200/30 , 80-200/37 , 80-250/45
Quantity =1 for 80-250/55
[4] Not for H and E version
[5] FPM for H, HW, HSW version
EPDM for E version and Special seals Q1Q1EGG, Q1U3EGG, U3CEGG, Q1AEGG (Not for model 80-250)
EPDM for ES version only model 80-250
[6] Special version: see page 326 and following

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200

~

/

et
/
f
42 A

58

50

y

\H__!__f,
|

33

67 93

42

NN N

6

244

i)
o
L]
[
O

200 72

BN

3

25

318

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

Rev. Y
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200
o MATERIAL DIMENSIONS STANDARD
N PART NAME 3p ‘ 3P
1 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
3 |Support Cast iron EN-GJL-200-EN 1561
4 |Casing cover EN 1.4301 (AISI 304) I EN 1.4404 (AISI 316L)
6 |Shaft - Part in contact with liquid EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
6 A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table pag. 334
7 [impeller EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L) [6]
11 |Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM [5]
12 |Motor
19 |Bearing See table p. 325
20 |Bearing - See table p. 325
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906
32-125, 40-125 158.11x5.34 OR 6625
26 |"0"ring 32-160, 40-160, 50-125, 65-125 NER [4] FPM 183.52x5.34 OR 6720
32-200, 40-200, 50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200 i )
Up to 11 kW 6x6x25
32 |Key 15 KW and above EN 1.4401 (AISI 316) Bx7x30 UNI 6604
33 |Key c40 8x7x40 UNI 6604
Up to 11kW M16x1.5
34 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474
15 kW and above M20x1.5
42 |Pump support Fe 37 Galvanized EBARA DRAWING
42 A |Base Fe 37 Galvanized
44 |Protection Fe 37 Galvanized
50 |Foot Aluminium / Galvanized steel
58 |Fasting nut -
66 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561
67 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561
72 |Casing ring ] EN 1.4301 (AISI 304) I EN 1.4404 (AISI 316L)
73 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
92 |"V"ring - VS - 0030
93 |"V"ring VS - 0030
32-125, 40-125 M 8x30 UNI 5739
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1
50-200, 65-125, 65-160, 65-200 M 10x35 UNI 5739
244 |Pin [3] / ] EN 1.4301 (AISI 304) 4x15

Counterflange kit on request see p. 335-336

[1] For version: 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-1607.5,

50-200/9.2, 50-200/11, 50-200/15
[2] Quantity =10 for 32-160, 40-160, 50-125, 65-125

Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[3] Only for 65-160/15 and 65-200

[4] FPM for H-HS-HW-HSW version
EPDM for E version and Special Seals Q1Q1EGG, Q1U3EGG, U3CEGG, Q1AEGG, U3U3EGG
U3U3EGG is not available for model 65-160/15 and model 65-200
[5] Special version: see page 326 and following
[6] CF8M — EN 1.4408 (AlISI316) material for 65-125 up to 65-200

319

=TV T

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

50Hz

CONSTRUCTION

Rev. Y

SECTIONAL VIEW DRAWING 3LP 80-160

FT A [T

320

EBARA PUMPS EUROPE S.p.A.

=TV T



3 SERIES

CENTRIFUGAL PUMPS

50Hz

CONSTRUCTION

Rev. Y

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250

321

EBARA PUMPS EUROPE S.p.A.

=TV T



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

SECTIONAL VIEW DRAWING 3LP 65-250, 80-160/200/250

—

|
[
— 5 I 1
|
[
|
T
||“_i / JC_I
L
g |
1|
" ~H.
\II g I ~ -
— | —8
%— i -8
\ | .-"'#/ ¥
|
. |
TR I
x"x.l I
IIII'\..I I
b |
[Ryssns! (o
famli
L
. = —
|
_:?__ 'J'h i l
H_ n H
L II.J"I I
|
3

322

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
SECTIONAL VIEW TABLE 3LP 80-160

N° PART NAME MATERIAL DIMENSIONS STANDARD |Q.TY
1 |Casing CF8M-EN 1.4408 (AISI 316) 1
3 |Support Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 |Shaft EN 1.4404 (AISI 316L) - Wet extension 1
6 A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 334 1
7 |Impeller CF8M-EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [3] 1
12 |Motor - 1
19 |Bearing - See table p. 325 1
20 |Bearing - See table p. 325 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING | 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING | 1
26 |"O"ring FPM [2] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 8x7x30 1
33 |Key C 40 8x7x40 UNI6604 1
34 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
42 |Pump support Galvanized steel EPE DRAWING | 1
42 A |Base Galvanized steel EPE DRAWING | 1
44 |Protection Galvanized steel EPE DRAWING| 1
50 |Foot Aluminium EPE DRAWING | 2
50 A |Spacer for pump / /
50 B |Spacer for pump / /
50 C |spacer for protection / /
66 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
67 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
75 |Washer (plug) 1
76 |Washer (plug) EN 1.4404 (AISI 316L) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM [2] 1
89 |Snap ring Carbon tool steels TC 80 40 UNI 7435 1
92 ["V"ring 1
93 ["V"ring i VS-0030 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 10
200 A|Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 UNI 6873 1

Counterflange kit on request, see table p. 335-336

(1]
(2]

[3] Special version: see page 326 and following

Not for H and E option.
FPM for H, HW, HSW version

EPDM for E version, QIAEGG, Q1Q1EGG, Q1U3EGG, U3CEGG.

For drawing see p.319

323

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS |STANDARD|Q.TY
1 |Casing CF8M-EN 1.4408 (AISI 316) 1
3 |Support Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4401 (AISI 316) 1
4 A |Screw for casing cover EN 1.4301 (AISI 304) 2
6 |Shaft EN 1.4462 (Duplex stainless steel) - Wet extension 1
6 A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 334 1
7 |Impeller CF8M-EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [5] 1
12 |Motor - 1
19 |Bearing - See table p. 325 1
20 |Bearing - See table p. 325 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 1
26 |"O"ring FPM [4] 253.36x5.34 OR 6995 1
65-250 1
32 |Key  80-200/ 9724mm EN 1.4401 (AISI 316) 8x7x30 UNI 6604 | 1
80-250| d=29 mm 8x7x40 1
33 |Key C 40 10x8x60 UNI 6604 1
. 65-250 1
34 ':L‘er"er 80-200| 9724 MM EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 | 1
80-250| d=29 mm M24x2 1
42 |Pump support Galvanized steel 1
42 A |Base Galvanized steel 1
44 |Protection Galvanized steel 1
50 |Foot (only for 65-250/22kW) Aluminium 2
50 A |Spacer Aluminium [1]
50 B |Spacer Aluminium [2]
50 C |Spacer for protection Aluminium [3]
66 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
67 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
75 |Washer (plug) 1
76 [Washer (plug) EN 1.4404 (AISI 316L) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM [4] 1
89 |Snap ring Carbon tool steels TC 80 J 50 UNI 7435 1
92 |"V"ring 1
93 ["V"ring ) Vs-0040 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 |Pin [3] EN 1.4301 (AISI 304) 4x12 UNI 6873 1
Counterflange kit on request, see table p. 335-336
[1] Quantity =0 for 65-250, 80-200/22 and 80-250/55
Quantity =2 for 80-200/30, 80-200/37 and 80-250/45
[2] Quantity =0 for 65-250, 80-200/22 and 80-250/55
Quantity =2 for 80-200/30, 80-200/37 and 80-250/45
[3] Not for H and E option.
[4] FPM for H, HW, HSW version
EPDM for E version and for Q1IQ1EGG, Q1U3EGG, U3CEGG, Q1AEGG
EPDM for ES version only model 80-250
[5] Special version: see page 326 and following
For drawing see p.320-321
324

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz
Rev. Y
BEARINGS 3(.)M
Pump type Ball bearing
Single Phase Three Phase ) )
50 Hz 50 Hz Pump side Pump side Fan side Fan side

3()M 32-125/1.1 M 3(.)M(Z) 32-125/1.1

3(.)M 32-160/1.5 M 3(.)M(Z) 32-160/1.5 6205-2RSH 6205-2Z C3 6203-ZZ C3
3(.)M 32-160/2.2 M 3(.)M(Z) 32-160/2.2 6205-2RSH
3(.)M(Z) 32-200/3 6205-27 C3
) 3(.)M(Z) 32-200/4 6206-2RS1 6206-ZZ C3
3(.)M(Z) 32-200/5.5

3 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3

3()M40-125/1.5M |3
3()M 40-125,22M |3

M(Z) 32-200/7.5
M(Z) 40-125/1.5
M(Z) 40-125/2.2 6205-2RSH 6205-ZZ C3
M(Z) 40-160/3
M(Z) 40-160/4 6206-2RS1 6206-ZZ C3
M(Z) 40-200/5.5

6203-ZZ C3
6205-2RSH

w

3 6205-ZZ C3

- 3

6306 2RS1 6306 ZZ C3 6206-2RS1 6206-ZZ C3

3(.)M(Z) 40-200/7.5
3(.)M(Z) 40-200/11 6308-2RS1 6308-ZZ C3 6208-2RS1 6208-ZZ C3
3(.)M 50-125/2.2 M 3(.)M(Z) 50-125/2.2 6205-2RSH 6205-27 C3 6203-ZZ C3
6205-ZZ C3
3(.)M(Z) 50-125/4 6206-2RS1 6206-ZZ C3
3(.)M(Z) 50-160/5.5

6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3

3(.)M(Z) 50-160/7.5

M(Z) 50-200/9.2

w

6308-2RS1 6308-ZZ C3 6208-2RS1 6208-ZZ C3

3(.)M(Z) 50-200/11

3(.)M(Z) 50-200/15 6309-2RS1 6309-ZZ C3 6309-2RS1 6309-ZZ C3

3(.)M(Z) 65-125/4 6206-2RS1 6206-ZZ C3 6205-2RSH 6205-ZZ C3

3(.)M(Z) 65-125/5.5

3(.)M(Z) 65-125/7.5 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
- 3(.)M(Z) 65-160/7.5

w

M(Z) 65-160/9.2
M(Z) 65-160/11
M(Z) 65-160/15
M(Z) 65-200/15

6308-2RS1 6308-ZZ C3 6208-2RS1 6208-ZZ C3

3
3
3

(M(Z)
(IM(2)
(M(2)
(M(2)
(IM(2)
(IM(2)
(M(2)
(M(2)
(IM(2)
(M(2)
(M(Z)
(IM(2)
(IM(2)
(M(Z)
(M(2)
3(.)M(Z) 50-125/3 6205-2RSH
(M(2)
(M(2)
(IM(2)
(IM(2)
(M(2)
(IM(2)
(IM(2)
(M(2)
(IM(2)
(IM(2)
(M(2)
(M(Z)
(IM(2)
8 E ; 6309-2RS1 | 6309-ZZC3 | 6309-2RS1 | 6309-ZZC3

3(.)M(Z) 65-200/18.5

3(.)M(Z) 65-200/22

3LM 80-160/11 6308-2RS1 | 6308-ZZC3 | 6208-2RS1 | 6208-ZZC3
3LM 80-160/15R

3LM 80-160/15 6309-2RS1 | 6309-ZZC3 | 6309-2RS1 | 6309-ZZ C3

3LM 80-160/18.5

(*) Only for IE3 Motors

325

% E2ARA EBARA PUMPS EUROPE SpaA.



3 SERIES

CENTRIFUGAL PUMPS

CONSTRUCTION 50Hz
Rev. Y
BEARINGS 3(.)S-3(.)P
Ball bearing Ball bearing
Pump t
mp type Pump side | Fan side Pump type . Pump . . Motor .
Pump side Motor side Pump side Fan side
3(.)S(Z) 32-125/1.1 | 6204-2Z C3 | 6204-2Z C3 3(.)P 32-125/1.1 6204-2Z C3 6204-2Z C3
Z) 32-160/1. - - -
3(.)S(Z) 32-160/1.5 6205-27 C3 | 6205-27 C3 3(.)P 32-160/1.5 6306-2RS1 6206-2RS1 6205-27 C3 6205.27 C3
3(.)S(Z) 32-160/2.2 3(.)P 32-160/2.2
3(.)S(Z) 32-200/3 6206-2Z C3 | 6206-2Z C3 3(.)P 32-200/3 6206-2Z C3 6206-2Z C3
22 ;zg; C;‘Z;ggg : 6306-2Z C3 | 6306-2Z C3 giig 22;88751 : 6308-2RS1 6306-2RS1 6306-2Z C3 6306-2Z C3
- - 6208-2Z C3 | 6208-2Z C3 - . : 6208-2Z C3 6208-2Z C3
3(.)S(Z) 32-200/7.5 3(.)P 32-200/7.5
3()5(2) 40-125/1.5 6205-2Z C3 | 6205-2Z C3 3(.)P 40-1251.5 6205-2Z C3 6205-2Z C3
3(.)S(Z) 40-125/2.2 3(.)P 40-125/2.2 6306-2RS1 6206-2RS1
3(.)S(Z) 40-160/3 6206-2Z C3 | 6206-2Z C3 3(.)P 40-160/3 6206-2Z C3 6206-2Z C3
3(.)S(Z) 40-160/4 6306-2Z C3{ 6306-2Z C3 3(.)P 40-160/4 6306-2Z C3 6306-2Z C3
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5
6208-2Z C3 | 6208-2Z C3 6208-2Z C3 6208-2Z C3
3(.)S(Z) 40-200/7.5 3(.)P 40-200/7.5 6308-2RS1 6306-2RS1
3(.)S(Z) 40-200/11 | 6309-2Z C3 | 6309-2Z C3 3(.)P 40-200/11 6309-2Z C3 6309-2Z C3
3(.)S(Z) 50-125/2.2 | 6205-2Z C3 | 6205-2Z C3 3(.)P 50-125/2.2 6205-2Z C3 6205-2Z C3
3(.)S(Z) 50-125/3 6206-2Z C3 | 6206-2Z C3 3(.)P 50-125/3 6306-2RS1 6206-2RS1 6206-2Z C3 6206-2Z C3
3(.)S(Z) 50-125/4 6306-2Z C3 | 6306-2Z C3 3(.)P 50-125/4 6306-2Z C3 6306-2Z C3
3(.)S(Z) 50-160/5.5 3(.)P 50-160/5.5
3(.)S(Z) 50-160/7.5 |6208-2Z C3 | 6208-2Z C3 3(.)P 50-160/7.5 6208-2Z C3 6208-2Z C3
3(.)S(Z) 50-200/9.2 3(.)P 50-200/9.2 6308-2RS1 6306-2RS1
3(.)S(Z) 50-200/11 3(.)P 50-200/11
6309-2Z C3 | 6309-2Z C3 6309-2Z C3 6309-2Z C3
3(.)S(Z) 50-200/15 3(.)P 50-200/15
3(.)S(Z) 65-125/4 6306-2Z C3 | 6306-2Z C3 3(.)P 65-125/4 6306-2Z C3 6306-2Z C3
3(.)S(Z) 65-125/5.5 3(.)P 65-125/5.5 6306-2RS1 6206-2RS1
3(.)S(Z) 65-125/7.5 3(.)P 65-125/7.5
6208-2Z C3 | 6208-2Z C3 6208-2Z C3 6208-2Z C3
3(.)S(Z) 65-160/7.5 3(.)P 65-160/7.5
3(.)S(Z) 65-160/9.2 3(.)P 65-160/9.2
3(.)S(Z) 65-160/11 3(.)P 65-160/11
3(.)S(Z) 65-160/15 3(.)P 65-160/15 6308-2RS1 6306-2RS1
6309-2Z C3{ 6309-2Z C3 6309-2Z C3 6309-2Z C3
3(.)S(Z) 65-200/15 3(.)P 65-200/15
3(.)S(Z) 65-200/18.5 3(.)P 65-200/18.5
3(.)S(Z) 65-200/22 6311 C3 6311C3 |1) 3(.)P 65-200/22 6311 C3 6311 C3 1)
SLS 85:2501%0 6312 C3 6312 C3 R SLP_65-250/30 6310-2RS1 6308-2RS1 6312 C3 6312 C3 D
3LS 65-250/37 1) 3LP 65-250/37 1)
3LS 80-160/11 3LP 80-160/11
3LS 80-160/15R 3LP 80-160/15R
- - 6308-2RS1 C3 | 6306-2RS1 C3| 6309-2Z C3 6309-2Z C3
3LS 80-160/15 6309-22 C3 1 6309-22 C3 3LP 80-160/15
3LS 80-160/18.5 3LP 80-160/18.5
3LS 80-200/22 6311 C3 6311 C3 |1) 3LP 80-200/22 6311 C3 6311 C3 1)
3LS 80-200/30 1) 3LP 80-200/30 1)
3LS 80-200/37 6312 C3 6312C3 |1) 3LP 80-200/37 6310-2RS1 C3 | 6308-2RS1 C3 6312 C3 6312 C3 1)
3LS 80-250/37 1) 3LP 80-250/37 1)
3LS 80-250/45 6313 C3 6313C3 [1) 3LP 80-250/45 6313 C3 6313 C3 1)
3LS 80-250/55 6314 C3 6314 C3 [1) 3LP 80-250/55 6314 C3 6314 C3 1)
1) Motor available with lubrificator for regular re-greasing of bearing.

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

MECHANICAL SEAL (standard, H, E and Special version)

L

L1 Lz

] \ -
| NelSla %7‘ NS

\-. / | / I". .

.Iv.." J-'r 1

\ L "'._

gd3

#d!
gda

—~ 4 3 2 1 3
J ' '

#dz

Dimensions Material
1 2 3 4
d1 d2 | d3 | d4 | d5 L L1 L2 | Stationary |Rotary seal Frame +

) ) Rubber .
seal ring ring Spring

Version Pump type

32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31 | 37 | 375|275 10
Standard 65-125 Carbon Ceramic NBR
65-160/7.5-9.2-11
65-160/15

65-200

32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31| 37 |375[27.5] 10
65-125
H 65-160/7.5-9.2-11 Carbon Ceramic FPM
65-160/15
65-200/250 30 | 24 | 46 | 39 | 45 |425|3255] 10
80-160/200
80-250 35 | 29 | 50 | 44 | 50 | 42.5]32.5] 10
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31| 37 |375|27.5] 10
65-125 . EN 1.4401
E 65-160/7.5-9.2-11 Carbon | Ceramic | EPDM | - 51346
65-160/15
65-200/250 30 | 24 | 46 | 30 | 45 |425|3255] 10
80-160/200
65-160/15 Silicon | Metallised EN 1.4401

Q1AEGG* ]65-200/250 30 | 24 | 46 | 39 | 45 |425(32.5| 10 ) EPDM
80-160/200 Carbide Carbon (AISI 316)

* The drawing is only indicative

EN 1.4401
(AISI 316)

30 | 24 | 46 | 39 | 45 | 425|325 10

EN 1.4401
(AISI 316)

327

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
MECHANICAL SEAL (L version 922)
4 3 1 2 3
Y N
\ \ \ II- /
\ \ | | /
\ \ | I.' /
\ | | /
'.II '-," |I _,_II||. - I.-"f
I"\I "'.\ | '. I;
\'. '-\. II .'II A / g
\ \"-. | / \;\“ '—‘I— \
| boo @ \Z
= I: =
|
— |
T\
N e
—t 7
' e
an
]
Material
Version Pump type ,1 2 3 4
Stationary Rotary Frame
. ) Rubber :
seal ring seal ring + spring
32-125/160/200
40-125/160/200
L 022 50-125/160/200 sic sic LU R
65-125 ( )
65-160/7.5-9.2-11

=TV T

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

MECHANICAL SEAL (L version 230-35)

L1 L2
I
, N
N N
L o0 @ NZN N B
—T EEE |
‘.':?}.) ‘ | .-"lll || ||I I| ‘
- \ 4 3 2 1 3 o
| |
O USmSST]
| )
7_4
<
Dimensions Material
Version | Pump type ! 2 3 4
PYPE L 41| d2 | d3 | d4 | d5| L | L1 L2 Stationary | Rotary |o .|  Frame
seal ring | seal ring + spring
65-160/15
L 230 [65-200/250 30 | 24 | 44 | 39 | 45 |425| 31 |11.5 . . EN 1.4571
80-160/200 Sic SIC | FPM 1 aisi 316Ti)
L 235 |80-250 35 | 29 | 49 | 44 | 50 |42.5] 31 [11.5

329

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

MECHANICAL SEAL (HS version and Special version ©22)

S 4 2 1 3

822
|
|
P37

B 28.5 |9
B 375 -
Material
. 1 2 3 4
Version Pump type Stationary Rotary Rubber Frame
seal ring | sealring + spring
32-125/160/200
40-125/160/200
HS 222 50-125/160/200 SiC SiC FPM (5\:\‘8:3415671'10
65-125
65-160/7.5-9.2-11
32-125/160/200
40-125/160/200 .
Q1AEGG*  [50-125/160/200 sic | Metallised | pppy, | EN 1.4401
Carbon (AISI 316)
65-125
65-160/7.5-9.2-11

* The drawing is only indicative

330

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
MECHANICAL SEAL (HS version 230)
42.5
(31) 115
| ‘
L oo @ ‘
3 l / \ \ |
4 5 2 1 3 |
3 3 4 ~ ~ —+ g g
|
TR —
Material
Version Pump type ,1 2 3 4
Stationary | Rotary Rubber Frame
seal ring | seal ring + spring
65-160/15 . . EN 1.4571
HS 2 30 65-200 SiC SiC FPM (AISI 316 Ti)
331

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

MECHANICAL SEAL (HW, HSW and Special version)
L

(L) Y

#d3

od1
@d2
T
|
|
|
|
|
|
i
pd4
¢d5

Bl

Dimensions Material
1 2 3 4
d1 d2 | d3 | d4 | d5 L L1 L2 i
Statloqary Rotalry Rubber Frame
seal ring seal ring + spring

Version Pump type

32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31| 37 |37.5(27.5] 10

65-125
Tungsten Tungsten EN 1.4401

HW 65-160/7.5-9.2-11 ” ; FPM

5516015 Carbide Carbide (AISI 316)

65-200/250 30 [ 24 | 46 | 39 | 45 |425|325] 10
80-160/200
80-250 35 | 29 | 50 | 44 | 50 [42.5][32.5] 10
32-125/160/200
40-125/160/200
50-125/160/200 22 [ 19 ] 38 | 31 37 |37.5]|27.5( 10
65-125
HSW 65-160/7.5-9.2-11
65-160/15
65-200/250 30 | 24| 46 | 39 | 45 [42.5]32.5] 10
80-160/200
80-250 35 [ 29| 50 | 44 | 50 [425]|32.5[ 10
32-125/160/200
40-125/160/200
UBU3EGG* |50-125/160/200 22 | 19| 38 | 31 | 37 [37,5]|27,5] 10
65-125
65-160/7.5-9.2-11
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31 | 37 [37,5]27,5] 10
. |65-125 Silicon Silicon EN 1.4401
QIQTECE" oe 16017.5-92-11 Carbide | Carbide | = OM [ (aisizi1e)
65-160/15
65-200/250 30 [ 24 | 46 | 39 | 45 |425|325] 10
80-160/200
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31 | 37 [37,5]|27,5] 10

« 165-125 Silicon Tungsten EN 1.4401
QIUSECE” oe 16017.5-9.2-11 Carbide | Carbide | = OM [ (aisizte)
65-160/15
65-200/250 30 [ 24 | 46 | 39 | 45 |425|325] 10
80-160/200
32-125/160/200
40-125/160/200
50-125/160/200 22 |1 19| 38| 31 | 37 [37,5]27,5] 10
65-125 Tunggten Silicg)n EPDM EN 1.4401
65-160/7.5-9.2-11 Carbide Carbide (AISI 316)
65-160/15
65-200/250 30 [ 24 | 46 | 39 | 45 |425|325] 10
80-160/200
* The drawing is only indicative

Tungsten . EN 1.4401
Carbide sic FPM (AISI 316)

Tungsten Tungsten EN 1.4401
Carbide Carbide EPDM (AISI 316)

U3CEGG*

332

E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
MECHANICAL SEAL (ES version)
42.5 .
32.5 10
) ]
Q AN
‘ —
B
N 4 5 2 1 3
L0 (@] _ _ _ _ < (@]
M N <+| O
) L
OO0 O ¢ zZS
) U i %—{ !
I
Material
Pump type ! 2 3 4
Yp Stationary | Rotary Rubb Frame +
seal ring |seal ring ubber Spring
. EN 1.4401
80-250 Carbon SiC EPDM (AISI 316)
333

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

COUPLING
L

Set screw UNILEW IS0 4020

El ] —,—chl )

A

- Lt |
f{—-——-—-{:{ ———————— B E

i

r |

Pump type Power Motor Dimensions mm
kW] | HP] | Size | d | d1 | d2 | d3 M L]t b h | Setscrew
32-125/1.1 1.1 1.5 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8

40-200/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 | 145 | 84 10 41.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 | 145 | 84 10 41.3 M8x8

40-200/11 11 15 160 19 22 42 63 M16x1.5 | 178 | 114 | 12 45.3 M8x8
50-125/2.2 22 3 90 19 22 24 39 M16x1.5 | 110 | 53 8 27.3 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 | 122 | 63 8 313 M8x8
50-125/4.0 4 5.5 112 19 22 28 43 M16x1.5 | 122 | 63 8 31.3 M8x8

50-160/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 | 145 | 84 10 41.3 M8x8
50-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 | 145 | 84 10 413 M8x8
50-200/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 | 84 10 41.3 M8x8

50-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 | 12 45.3 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 | 209 | 114 | 12 45.3 M8x8
65-125/4.0 4 5.5 112 19 22 28 43 M16x1.5 | 122 | 63 8 31.3 M8x8

65-125/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 | 145 | 84 10 41.3 M8x8
65-125/7.5 7.5 10 132 19 22 38 58 M16x1.5 | 145 | 84 10 41.3 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 | 145 | 84 10 41.3 M8x8
65-160/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 | 145 | 84 10 41.3 M8x8

65-160/11 11 15 160 19 22 42 63 M16x1.5 | 178 | 114 | 12 45.3 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 45.3 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 45.3 M8x8
65-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 45.3 M8x8
65-200/22 22 30 180 24 30 48 72 M20x1.5 | 184 | 114 | 14 51.8 M10x10
65-250/30 30 40 200 24 30 55 85 M20x1.5 | 184 | 114 | 16 59.3 M12x12
65-250/37 37 50 200 24 30 55 85 M20x1.5 | 184 | 114 | 16 59.3 M12x12
80-160/11 1" 15 160 24 30 42 63 M20x1.5 184 | 114 | 12 45.3 M8x8
80-160/15R 15 20 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 45.3 M8x8
80-160/18.5 18.5 25 160 24 30 42 63 M20x1.5 | 184 | 114 | 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 | 184 | 114 | 14 51.8 M10x10
80-200/30 30 40 200 24 30 55 85 M20x1.5 | 184 | 114 | 16 59.3 M12x12
80-200/37 37 50 200 24 30 55 85 M20x1.5 | 184 | 114 | 16 59.3 M12x12
80-250/37 37 50 200 29 35 55 85 M24x2 206 | 114 | 16 59.3 M12x12
80-250/45 45 60 225 29 35 55 85 M24x2 206 | 114 | 16 59.3 M12x12
80-250/55 55 75 250 29 35 60 89 M24x2 218 | 144 | 18 64.4 M12x12

334

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

FLEXIBLE COUPLING

dl

PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Pump type Power Motor Dimensions mm
Kwi | HP] | Size | d1 h1 2 | b2 | h2

32-125/1.1 1.1 1.5 80 24 27.3 19 6 21.8
32-160/1.5 1.5 2 90 24 27.3 24 8 27.3
32-160/2.2 2.2 3 90 24 27.3 24 8 27.3
32-200/3.0 3 4 100 24 27.3 28 8 31.3
32-200/4.0 4 55 112 24 27.3 28 8 31.3
32-200/5.5 5.5 7.5 132 24 27.3 38 10 41.3
32-200/7.5 75 10 132 24 27.3 38 10 41.3
40-125/1.5 1.5 2 90 24 27.3 24 8 27.3
40-125/2.2 2.2 3 90 24 27.3 24 8 27.3
40-160/3.0 3 4 100 24 27.3 28 8 31.3
40-160/4.0 4 5.5 112 24 27.3 28 8 31.3

40-200/5.5 5.5 7.5 132 24
40-200/7.5 7.5 10 132 24

27.3 38 10 41.3
27.3 38 10 41.3

40-200/11 11 15 160 24 27.3 42 12 45.3
50-125/2.2 2.2 3 90 24 27.3 24 8 27.3
50-125/3.0 3 4 100 24 27.3 28 8 31.3
50-125/4.0 4 5.5 112 24 27.3 28 8 31.3

50-160/5.5 5.5 7.5 132 24
50-160/7.5 7.5 10 132 24
50-200/9.2 9.2 12.5 132 24

27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3

50-200/11 11 15 160 24 27.3 42 12 45.3
50-200/15 15 20 160 24 27.3 42 12 45.3
65-125/4.0 4 5.5 112 24 27.3 28 8 31.3

65-125/5.5 5.5 7.5 132 24
65-125/7.5 7.5 10 132 24
65-160/7.5 7.5 10 132 24
65-160/9.2 9.2 12.5 132 24

27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3

65-160/11 11 15 160 24 27.3 42 12 45.3
65-160/15 15 20 160 24 27.3 42 12 45.3
65-200/15 15 20 160 24 27.3 42 12 45.3
65-200/18.5 18.5 25 160 24 27.3 42 12 45.3
65-200/22 22 30 180 24 27.3 48 14 51.8
65-250/30 30 40 200 32 35.3 55 16 59.3
65-250/37 37 50 200 32 35.3 55 16 59.3
80-160/11 11 15 160 24 27.3 42 12 45.3
80-160/15R 15 20 160 24 27.3 42 12 45.3
80-160/15 15 20 160 24 27.3 42 12 45.3
80-160/18.5 18.5 25 160 24 27.3 42 12 453
80-200/22 22 30 180 32 10 35.3 48 14 51.8
80-200/30 30 40 200 32 10 35.3 55 16 59.3
80-200/37 37 50 200 32 10 35.3 55 16 59.3
80-250/37 37 50 200 32 10 35.3 55 16 59.3
80-250/45 45 60 225 32 10 35.3 55 16 59.3
80-250/55 55 75 250 32 10 35.3 60 18 64.4

335

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Y
FITTINGS
COUNTERFLANGE ZINCKED STEEL
1 7 |
= % -
SN N* Holes 218 |
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G11/4 100 140 15 1.5 67 50 4
40 | G11/2 110 150 17.5 11.5 72 58 4 M16x55
50| G2 | 125 | 165 | 19 | 15 | 89 | 70 4 X Gv. Steel 8.8
strenght class
65| G21/2| 145 | 185 | 23 | 14 | 104 | 88 | 4 1SO 8981
80 G3 160 200 24 16 117.5 100 8 MA16x60
100 G4 180 220 29 16 144 125 8
COUNTERFLANGE EN 1.4404 (AISI 316L)
E
D
SN N’ Holes 018 | |
\ |
\
N
- T
§ | EL ! @
& ‘ M
I L 1
F
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G11/4 100 140 29.5 14 66 44
40 | G11/2 110 150 29.5 14 71 50.5
4 M16x55 A2-70 class
50 G2 125 165 34 16 83 63 1SO 3506-1
65 | G21/2 145 185 40 16 103 80
80 G3 160 200 42 18 122 92 8 M16x60

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. Y

COUNTERFLANGE EN 1.4404 (AISI 316L) DN100

. E .

SN_N" Holes @18 ‘ D ‘
|
N |

z | i |

POl | '
|

J | L |
F
Counterflange Screw

DN D E F H H1 L SN | DIMENSIONS | MATERIAL

A2-70 class

100 | G4 | 180 | 220 | 35 | 20 | 150 | 8 M16x70 |50 3506-1

GASKET

DN M M1

32 38 82
40 50 93
50 60 107
65 80 125
80 90 140
100 115 160

hickness 2

Material : EPDM for standard version
FPM for L version

337

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

PUMP 3(.)M 32, 40, 50, 65-125/160

02

P2 _

—_—

Rev. Y

jI
s T f
=
gl
= [t ]
—
=l =] = d
=" I - = =
1l =
A F:
4 i - -
=
Fig. 1
y o =
wl s
-
4-918 IE-;- -~
. —
()
Flg. 2 Bl
25
]
Dimensions (mm) Weight
Model o|lo|ol|e z |e|lo|o|eo H3 B c Vi v2 kgf]
0 0 0 0 g
DN1 | P1 K1 D1 | S1/[1]] [2] | DN2| P2 K2 D2 | S2 | Fig H H1 H2 | (1~] [ [3~] [ [3~] | R [ W M N1 N2 A [1~] | [3~] | [3~] [1~] 3~] [3~] [3~] [3~] [3~] [3~] [1~] [1~] | [3~] | [3~]
32-125/1.1 (M) 50 95 | 125 | 165 | 16 | 4 - 32 75 100 [ 140 [ 14| 1 252 | 112 | 140 | 141 | 124 | 119 | 80 | 70 | 114 | 140 | 190 | 213 | 408 | 407 | 431 | 219+230 | 219+230 232 - - PG 13.5| PG 13.5| M20x1.5| 19,6 | 24,1 | 24,1
32-160/1.5 (M) 50 95 125 | 165 | 16 | 4 - 32 75 | 100 | 140 [ 14| 1 292 | 132 | 160 | 141 | 124 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 408 | 407 | 431 | 219+230 | 219+230 232 - - PG 13.5| PG 13.5| M20x1.5| 225 | 27 27
32-160/2.2 (M) 50 | 95 | 125 | 165 | 16 | 4 | - 32 75 | 100 | 140 | 14 | 1 | 292 | 132 | 160 | 141 | 124 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 408 | 432 | 431 | 219+230 | 244+255 232 - - PG 13.5| PG 13.5| M20x1.5| 27,7 | 28 28
32-200/3.0 50 95 125 | 165 | 16 | 4 - 32 75 | 100 | 140 | 14| 1 340 | 160 | 180 - 124 | 124 | 80 | 70 | 119 | 190 | 240 | 296 - 471 | 471 - 244+255 | 244+255 - - PG 13.5| PG 13.5 - - 351351
32-200/4.0 50 | 95 | 125 | 165 | 16| 4 | - 32 75 | 100 | 140 [ 14| 1 | 340 | 160 | 180 - 141 | 141 | 80 | 70 | 119 | 190 | 240 | 296 - 494 | 494 - 253 253 - - PG 16 | PG 16 - - 38,2 | 38,2
32-200/5.5 50 95 125 | 165 | 16 | 4 - 32 75 | 100 | 140 [ 14| 1 340 | 160 | 180 - 150 | 150 | 80 | 70 | 119 | 190 | 240 | 296 - 519 | 519 - 275 275 M20x1.5| PG 13.5| PG 16 | PG 16 - - 52,2 | 522
32-200/7.5 50 95 125 | 165 | 16 | 4 - 32 75 | 100 | 140 [ 14| 1 340 | 160 | 180 - 150 | 150 | 80 | 70 | 119 | 190 | 240 | 296 - - 539 - 275 275 - PG 13.5| PG 16 - - - - 60,1
40-125/1.5 (M) 65 | 115 | 145 | 185 | 16 | 4 | - 40 80 | 110 | 150 | 14 | 1 | 252 | 112 | 140 | 141 | 124 | 119 | 80 | 70 | 114 | 160 | 210 | 213 | 408 | 407 | 431 | 219+230 | 219+230 232 - - PG 13.5| PG 13.5| M20x1.5| 20,1 | 24,6 | 24,6
40-125/2.2 (M) 65 | 115 | 145| 185 | 16 | 4 - 40 80 110 [ 150 [ 14| 1 252 | 112 | 140 | 141 | 124 | 119 | 80 | 70 | 114 | 160 | 210 | 213 | 408 | 432 | 431 | 219+230 | 244+255 232 - - PG 13.5| PG 13.5| M20x1.5| 25,8 | 26,1 | 26,1
40-160/3.0 65 | 115 | 145| 185 | 16 | 4 - 40 80 | 110 | 150 [ 14| 1 292 | 132 | 160 - 124 | 124 | 80 | 70 | 118 | 190 | 240 | 254 - 471 | 4T - 244+255 | 244+255 - - PG 13.5| PG 13.5 - - 26,6 | 26,6
40-160/4.0 65 | 115 | 145 | 185 | 16 | 4 | - 40 80 | 110 | 150 | 14 | 1 | 292 | 132 | 160 - 141 | 141 | 80 | 70 | 118 | 190 | 240 | 254 - 494 | 494 - 253 253 - - PG 16 | PG 16 - - 40,8 | 40,8
40-200/5.5 65 | 115 | 145| 185 | 16 | 4 - 40 80 110 [ 150 [ 14| 2 340 | 160 | 180 - 150 | 150 | 100| 70 | 115 | 212 | 265 | 296 - 539 | 539 - 275 275 M20x1.5| PG 13.5| PG 16 | PG 16 - - 52,5| 525
40-200/7.5 65 | 115 145|185 | 16 | 4 | - 40 80 | 110 | 150 [ 14 | 2 | 340 | 160 | 180 - 150 | 150 | 100| 70 | 115 | 212 | 265 | 296 - - 559 - 275 275 - PG 13.5| PG 16 - - - - 59.3
40-200/11 65 | 115 | 145 | 185 | 16| 4 | - 40 80 | 110 | 150 | 14 | 2 | 340 | 160 | 180 - 178 | 178 | 100| 70 | 115 | 212 | 265 | 296 - - 595 - 359 329 - PG 13.5| PG21 - - - - 69,6
50-125/2.2 (M) 65 | 115 | 145| 185 | 16 | 4 - 50 95 | 125 | 165 | 16| 2 292 | 132 | 160 | 141 | 124 | 119 [ 100| 70 | 114 | 190 | 240 | 254 | 428 | 452 | 451 | 219+230 | 244+255 232 - - PG 13.5| PG 13.5| M20x1.5| 294 | 32 32
50-125/3.0 65 | 115 | 145 | 185 | 16 | 4 | - 50 95 | 125 | 165 | 16 | 2 | 292 | 132 | 160 - 124 | 124 | 100 | 70 | 114 | 190 | 240 | 254 - 491 | 491 - 244+255 | 244+255 - - PG 13.5| PG 13.5 - - 30,9 | 30,9
50-125/4.0 65 | 115 | 145| 185 | 16 | 4 - 50 95 125 | 165 | 16| 2 292 | 132 | 160 - 141 | 141 | 100| 70 | 114 | 190 | 240 | 254 - 514 | 514 - 253 253 - - PG 16 | PG 16 - - 40,9 | 40,9
50-160/5.5 65 | 115 | 145|185 | 16 | 4 | - 50 95 | 125 | 165 | 16 | 2 | 340 | 160 | 180 - 150 | 150 | 100| 70 | 115 | 212 | 265 | 296 - 539 | 539 - 275 275 M20x1.5| PG 13.5| PG 16 | PG 16 - - 46,5 | 46,5
50-160/7.5 65 | 115 | 145 | 185 | 16 | 4 | - 50 95 | 125 | 165 | 16 | 2 | 340 | 160 | 180 - 150 | 150 | 100 | 70 | 115 | 212 | 265 | 296 - - 559 - 275 275 - PG 13.5| PG 16 - - - - 58.6
50-200/9.2 65 | 115 | 145| 185 | 16 | 4 50 95 125 | 165 | 16| 2 360 | 160 | 200 - 178 | 178 | 100| 70 | 115 | 212 | 265 | 296 - - 595 - 359 329 - PG13.5| PG21 - - - - 63,9
50-200/11 65 | 115 | 145 185 | 16| 4 | - 50 95 | 125 | 165 | 16 | 2 | 360 | 160 | 200 - 178 | 178 | 100| 70 | 115 | 212 | 265 | 296 - - 595 - 359 329 - PG 13.5| PG21 - - - - 69,6
65-125/4 80 | 134 | 160 | 200 | 18 | 8 | 4 | 65 | 115 | 145 | 185 | 16 | 2 | 340 | 160 | 180 - 141 | 141 | 100 | 95 | 140 | 212 | 280 | 254 - 514 | 514 - 253 253 - - PG 16 | PG 16 - - 37,7 37,7
65-125/5,5 80 | 134 | 160 | 200 | 18| 8 | 4 65 115 | 145 | 185 | 16| 2 340 | 160 | 180 - 150 | 150 | 100 | 95 | 140 | 212 | 280 | 254 - 539 | 539 - 275 275 M20x1.5| PG 13.5| PG 16 | PG 16 - - 48,7 | 48,7
65-125/7,5 80 | 134|160 | 200 | 18| 8 | 4 | 65 | 115 | 145 | 185 | 16| 2 | 340 | 160 | 180 - 150 | 150 | 100 | 95 | 140 | 212 | 280 | 254 - - 559 - 275 275 - PG 13.5| PG 16 - - - - 52.1
65-160/7,5 80 | 134 | 160 | 200 | 18 | 8 | 4 | 65 | 115 | 145 | 185 | 16 | 2 | 360 | 160 | 200 - 150 | 150 | 100 | 95 | 140 | 212 | 280 | 296 - - 559 - 275 275 - PG 13.5| PG 16 - - - - 55.3
65-160/9,2 80 | 134 | 160 | 200 | 18| 8 | 4 65 115 | 145 | 185 | 16| 2 360 | 160 | 200 - 178 | 178 | 100| 95 | 140 | 212 | 280 | 296 - - 595 - 359 329 - PG13.5| PG21 - - - - 61
65-160/11 80 | 134|160 | 200 |18 | 8 | 4 | 65 | 115 | 145 | 185 | 16| 2 | 360 | 160 | 200 - 178 | 178 | 100 | 95 | 140 | 212 | 280 | 296 - - 595 - 359 329 - PG 135| PG21 - - - - 67.4

(*) Only for IE3 Motors

[1] Standard

[2] On request

[1~] Only for single phase

[3~] Only for three phase

400

E2ARA

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. Y
PUMP 3(.)M 50-200, 65-160/15, 65-200
B
D2
P2
DN2 PG21 296
“ iy
—LLL &) Z- 918
Nl H @O - N
VA e S S ®
_ ‘ —| Q
10 I ‘ = s -
= &z B ! ‘ o — & — J
| L g1 ‘
- ‘ = | i 3 %}\
(<o) ~—
i (=11 Fig. | § 00 )
: 5 sl ) /g\%
T T
100 ‘ 499.5 20 < J 4 — g15
25 W 2 - #5 N |
M N2
- N
—
L4
i I —|
il I — -
e | o O A
il e !
C 254 25 5
- M -1
4— o5 A -
L4
1l 1] —| o
I il — -
Dimensions [mm]
Weight
Model o | 2|0 @ z 2 |o|o| o
i kgf
ONT | P1 | K1 | D1 |s1| (1] 2| oN2 | P2 | K2 | D2 Fig.| H |H1 | H2| W | M |N1|N2| B C | L1|L2]| L3 | L4]| [kof]
50-200/15 65 |115|145|185| 16 | 4 | - | 50 | 95 |125[165| 2 |360| 160|200 | 70 | 115|212 | 265 | 723 | 190.5| 254 | 318 | 65 | 304 | 105.1
65-160/15 80 |134|160(200| 18| 8 | 4 | 65 |115|145|185| 2 |360| 160|200 | 95 | 140| 212|280 | 732 |199.5| 254 | 318| 65 | 304 | 107.1
65-200/15 80 |134/160[200] 18 | 8 | 4 | 65 |115]145[185| 1 |405|180|225| 95 | 140|250 | 320|732 - |254|314]| 60 | 345 110.1
65-200/18.5 | 80 |134|160|200| 18 | 8 | 4 | 65 |115|145|185| 1 |405|180|225| 95 | 140|250 | 320 | 732| - |254|314| 60 | 345| 1253
65-200/22 80 |134|160|200| 18 | 8 | 4 | 65 [115|145|185| 1 | 405|180 |225| 95 | 140 | 250 | 320 | 732 254 | 314 | 60 | 345 136.1

[1] Standard

[2] On request

401

=TV T

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y
PUMP 3LMZ 32, 40, 50-125/160/200/9.2/11, 65-125/160/7.5/9.2/11
B
D2
A
V1 /-818
N DN2
’
L
~ = = { )
o~
— H - S -
_ H -
. | GE
- | = \ y & T T
ol ol o | £ [ /
] | ¢ \\
1 1 N 2 & —
- f T
] L
«j—é
£ £
St 1
R C
M1 ‘ M2
%
f [i9]
o~ (=] 1 | o >
= ™ j : o=
|
I
Dimensions (mm) Weight
Model 0| 0| o| @ 0| 0| 2| @ H3 B % V2 [kaf]
DN1| P1 | K1 | D1 [S1]| Z |DN2| P2 | K2 | D2 |S2]| H | H1 | H2 () | R|M [ M2]| S |N2| A " | C *) (*) ()
32-1251.1 | 50 | 95 | 125|165 16| 4 | 32 | 75 | 100 | 140 | 14 | 252 | 112 | 140 | 124 | 119 | 80 [ 32.5| 212 | 6 | 190 | 213 | 407 | 431 | - - - PG 13.5 | M20x1.5| 24.1 | 24.1
32-160/1.5 | 50 | 95 | 125 | 165 | 16| 4 | 32 | 75 | 100 | 140 | 14 | 292 | 132 | 160 | 124 | 119 | 80 | 42 | 200 | 6 | 210 | 254 | 407 | 431 | - - - PG 13.5 | M20x1.5]| 27 27
32-160/2.2 | 50 | 95 | 125165 16| 4 | 32 | 75 [ 100 | 140 | 14| 292 | 132 | 160 [ 124 [ 119 | 80 | 42 [ 200 | 6 | 210|254 | 432 | 431 [ - - - PG 13.5 | M20x1.5| 28 28
32-200/3.0 | 50 | 95 | 125|165 | 16| 4 | 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 124 | 124 | 80 | 39 | 205 | 8 | 220 | 296 | 471 | 471 | - - - PG 13.5 | M20x1.5| 35.1 | 35.1
32-200/4.0 | 50 | 95 | 125|165 | 16| 4 | 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 141 | 141 | 80 | 39 | 205 | 8 | 220 | 296 | 494 | 494 | - - - PG 16 | M20x1.5| 382 | 38.2
32-200/5.5 | 50 | 95 | 125|165 16| 4 | 32 | 75 [ 100 | 140 | 14| 340 | 160 | 180 | 150 | 150 | 80 | 39 | 205 | 8 | 220|296 | 519 | 519 | - [PG13.5|M20X1.5] PG16 |M25x1.5| 52.2 | 522
32-200/7.5 | 50 | 95 | 125|165 | 16| 4 | 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 150 | 150 | 80 | 39 | 205 | 8 | 220|296 | - | 539 | 275 - PG 13.5 - PG 16 - 60.1
40-1251.5 | 65 | 115 | 145 | 185 | 16| 4 | 40 | 80 | 110 | 150 | 14 | 252 | 112 [ 140 | 124 | 119 | 80 | 32.5| 212 | 6 | 190 | 213 | 407 | 431 | - - - PG 13.5 | M20x1.5| 24.6 | 24.6
40-125/2.2 | 65 | 115 | 145|185 | 16| 4 | 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 124 | 119 | 80 | 32.5| 212 | 6 | 190 | 213 | 432 | 431 | - - - PG 13.5 | M20x1.5| 26.1 | 26.1
40-160/3.0 | 65 | 115 | 145|185 | 16| 4 | 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 124 | 124 | 80 | 42 | 200 | 6 | 210 | 254 | 471 | 471 - - - PG 13.5 | M20x1.5| 26.6 | 26.6
40-160/4.0 | 65 | 115 | 145 | 185 | 16| 4 | 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 141 | 141 | 80 | 42 | 200 | 6 | 210 | 254 | 494 | 491 | - - - PG 16 | M20x1.5] 40.8 | 40.8
40-200/5.5 | 65 | 115 | 145|185 | 16| 4 | 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 150 | 150 [ 100| 39 | 205 | 8 | 220 | 296 | 539 | 539 | - | PG 13.5 |M20X1.5| PG 16 |M25x1.5| 525 | 525
40-200/7.5 | 65 | 115|145 | 185 | 16| 4 | 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 150 | 150 [ 100| 39 | 205 | 8 | 220 | 296 | - | 559 | 275 - PG 13.5 - PG 16 - 59.3
40-200/11 65 | 115 145|185 | 16| 4 | 40 | 80 | 110 [ 150 | 14 | 340 | 160 | 180 | 178 | 178 [ 100| 39 | 205| 8 | 220 | 296 | - [ 595 | 359 - PG 13.5 - PG 21 - 69.6
50-125/22 | 65 | 115|145 | 185 [ 16| 4 | 50 | 95 | 125 165 | 16| 292 | 132 | 160 | 124 | 119 [ 100| 42 | 200 | 6 | 210 | 254 | 452 | 451 | - - - PG 13.5 | M20x1.5| 32 32
50-125/3.0 | 65 | 115 | 145 | 185 | 16| 4 | 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 124 | 124 | 100| 42 | 200 | 6 | 210 | 254 | 491 | 491 | - - - PG 13.5 | M20x1.5| 30.9 | 30.9
50-125/4.0 | 65 | 115|145 | 185 | 16| 4 | 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 141 | 141 | 100| 42 | 200 | 6 | 210 | 254 | 514 | 514 | - - - PG 16 | M20x1.5| 40.9 | 40.9
50-160/5.5 | 65 | 115 | 145 | 185 | 16| 4 | 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 150 | 150 | 100| 39 | 205 | 8 | 220 | 296 | 539 | 539 | - | PG 13.5|M20X1.5| PG 16 |M25x1.5| 46.5 | 46.5
50-160/7.5 | 65 | 115 | 145 | 185 | 16| 4 | 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 150 | 150 | 100| 39 | 205 | 8 | 220 | 296 | - | 559 | 275 - PG 13.5 - PG 16 - 58.6
50-200/9.2 | 65 | 115 | 145 | 185 | 16| 4 | 50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 178 | 178 | 100| 39 | 205 | 8 | 220 | 296 | - | 595 | 359 - PG 13.5 - PG 21 - 63.9
50-200/11 65 | 115 | 145 185 | 16| 4 | 50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 178 | 178 [100| 39 [ 205| 8 | 220 | 296 | - | 595 | 359 - PG 13.5 - PG 21 - 69.6
65-125/4 80 | 134 [ 160 | 200 | 18| 8 | 65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 141 | 141 [ 100| 42 | 200 | 6 | 210 | 254 | 514 | 514 | - - - PG 16 |M20x1.5| 37.7 | 377
65-125/55 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 150 | 150 [ 100| 42 | 200 | 6 | 210 | 254 | 539 | 539 | - | PG 13.5 | M20X1.5| PG 16 |M25x1.5| 487 | 487
65-125/7,5 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 150 | 150 | 100| 42 | 200 | 6 | 210 | 254 | - | 559 | 275 - PG 13.5 - PG 16 - 52.1
65-160/7,5 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 150 | 150 [ 100| 39 | 205 | 8 | 220 | 296 | - | 559 | 275 - PG 13.5 - PG 16 - 55.3
65-160/9,2 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 178 | 178 [ 100| 39 | 205 | 8 | 220 | 296 | - | 595 | 359 - PG 13.5 - PG 21 - 61
65-160/11 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 178 | 178 [100| 39 [ 205| 8 | 220 | 296 | - | 595 | 359 - PG 13.5 - PG 21 - 67.4

(*) Only for IE3 Motors

402

E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. Y
PUMP 3LMZ 50-200/15, 65-160/15, 65-200
B
D2
P2
DN2 PC21
& -
@)
g g
I 2 ﬁ = :
] 2K R b /
F, T —
I ‘ ° :
o1 3 é\ -
. — S =
Fig. 1 - ;J
7 I
100 151.5 350 16 = 318
4 - p14
Lo 2 N
382 \
1 I o2
Tl T Q-
T ‘ =
if “ Fig. 2 H N
ii =
1 c 254 ‘ 25 S
4 - 14
& 3 N
‘ 304 ‘
i 1 3
I fl Q5
Dimensions [mm)] Weidht
eig
Model o |o|lo|o o |o|o]|o
i kgf
DN1 | P1 | K1 | D1| 81| z | DN2|P2| k2| D2 |Fig| H | HI|H2I B C o) [kl
50-200/15 65 | 115] 145] 185] 16 | 4 | 50 | 95 | 125] 165]| 2 | 360 160 200 723| 190.5 | 105.1
65-160/15 80 | 134|160|200| 18 | 8 | 65 |115| 145|185| 2 | 360 160 | 200 | 732 | 199.5 | 1071
65-200/15 80 | 134|160|200| 18 | 8 | 65 |115|145|185| 1 | 405 180 | 225 732 1101
65-200/18.5 | 80 |134|160|200| 18 | 8 | 65 |115|145|185| 1 | 405|180 225|732 125.3
65-200/22 80 | 134|160|200| 18 | 8 | 65 | 115|145|185| 1 | 405|180 225| 732 136.1

=TV T

EBARA PUMPS EUROPE S.p.A.




¢ 225

CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y

PUMP 3LM 80-160/11

$ 135 147 173

DN8Q PG13.5 2-G3/8

8-918

22

8 155
DN100 ‘
]
©
8 | 259
178
|
225
405

—~ % 5 . neo g
t I ! I S }
24 ‘
r(j
95 928 4-915 65 -
| |
125 250
125 | 359 320
620
Weight: 100 kgf
404

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y

PUMP 3LM 80-160/15R/15/18.5

§ 200
2135 147 173
PG
L — E-#18 2-63/8
- PE21 —_— —
N i Y |
, { | N |
I T 5
T L]
m e - Y W)
L = E E
| —— o W
i j: E | ] i — H =1
= 2 = L | , - [ =
s =l & || o - =
1 [==)
- [En)
o =
JRET—Td] |
- = . . I | ¥
2 |
el
g5 = 4-#15 65
|
125 250
125 439.5 20 320
757
345
E—#18
Z] + + A
7-gl5 / wl
- N7
Weight:
80-160/15R :  130.1 kgf
80-160/15:  131.1 kgf
80-160/18.5 : 145.3 kgf

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. Y
PUMP 3(.)S 32, 40, 50
=]
A
o
i 4-818
£
3 |
p
. - - =X
= e E|
T
Fig. 1
R
16
|
o] B
LLiE —tT 92
¥ 1 L
Fig. 2 —
, . ~14
25 0
M
Dimensions [mm] Weight
Model glololololol ol o ! [kaf]
ontl P11l k1| D1 loNn2l P2 | K2 | D2 S2 |Fig.| H | H1 | H2 | H3| R M | N1 | N2| A B C V1 V2 “
32-125/1.1| 50 | 95 | 125|165| 32 | 75 | 100 | 140| 14 1 |252|112|140| 139| 80 | 114 | 140| 190 | 213 | 430 | 174 | M25x1.5 | M20x1.5| 23.1 24.7
32-160/1.5| 50 | 95 | 125|165| 32 | 75 | 100 | 140 | 14 1 1292|132|160| 148 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5| 29.8 29.8
32-160/2.2 | 50 | 95 | 125|165| 32 | 75 | 100 | 140 | 14 1 1292| 132|160 | 148 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5| 32.4 324
40-125/1.5] 65 | 115|145|185| 40 | 80 | 110| 150 | 14 1 |252|112| 140|148 | 80 | 114 | 160| 210 | 213 | 477 | 186 | M25x1.5 | M20x1.5| 26.5 26.5
40-125/2.2 | 65 | 115 145|185| 40 | 80 | 110| 150 | 14 1 1252 112|140 | 148 | 80 | 114 | 160| 210 | 213 | 477 | 186 | M25x1.5 | M20x1.5| 29.6 29.6
50-125/2.2 | 65 | 115|145|185| 50 | 95 | 125|165| 16 | 2 |292| 132|160 | 148 | 100 | 114 | 190 | 240 | 254 | 497 | 186 | M25x1.5 | M20x1.5| 32.9 329

(*) Only for IE3 Motors

406

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y
PUMP 3(.)S 32, 65
B
02
F:Eﬂ MZ25x1.5 A
o "ﬁ [ wooas I-918 |
\ . — \ M 7918
/ © g L
i e /é'a__%;
| _ - . L) -
SR Loy | (oL Wﬁﬁ
JJ{’ £ s i
=

N B

BH
R C 140 22.5 4-¢15
N1
51 1l N2

R ﬂ\\ 4-018 {Ec:'\
. Npn &
Ean < A { o
W LFS S e D)

OM2
! I I

Dimensions [mm] Weight

Model | o || 0| o z |e|le|lo|e . [kaf]
ont | Pt [kt | o1 st ]| onz| P2 | k2 | D2 | s2 Fig.| H | H1 |H2|H3| R|W | M|NI|N2| A|B|C|Ll|L2]|L3 o
32-200/3.0 | 50 | 95 |125|165| 16| 4 | - | 32 | 75 |100|140| 14| 1 | 340|160 | 180 | 155| 80 | 70 | 119 | 190 | 240 | 296 | 528 | 205 | 160 | 202 | 42 46.9 46.9
32-200/4.0 | 50 | 95 |125|165| 16| 4 | - | 32 | 75 |100|140| 14| 1 | 340|160 | 180|171| 80 | 70 | 119|190 | 240 | 296 | 550 | 212 | 190 | 228 | 38 49 49
65-125/4.0 | 80 | 134|160|200| 18| 8 | 4 65 | 115|145|185| 16 | 2 | 340| 160|180 | 171 | 100 | 95 | 140|212 | 280 | 254 | 570 | 212 | 190 | 228 | 38 50.1 50.1

[1] Standard  [2] On request  (*) Only for IE3 Motors

407

% E2ARA EBARA PUMPS EUROPE SpaA.



3senbai uQ [g]

pirepuess [1]

SI0J0 €3] 40} AlUO ()

408

Rev. Y

50Hz

3 SERIES

PUMP 3(.)S 32, 40, 50, 65

CENTRIFUGAL PUMPS
DIMENSIONS AND WEIGHT

Gl - JouxeewleixgeWw] - [ - T -1 -1 -1 -1 - [ses]oseloze]oge] - | - Jo0L] - [89z][Sece|08L[SOv] € | 91 [G8L[SvL]GLL] G9 | ¥ ] 8] 81 |002]09L]¥EL] 08 | 22/002-59
z/eL] - |suxopn|sixovn] 09 [vie[vSe| v [0se| 0z |129]0s8|0ge| 0ze|0sz|ovL| G6 [00L| 0z |8€z|Szz|08L|S0r| 2 | 9L [ssL|swi|sLL] 9| v | 8| 8L [00z[09L]vEL| 08 | 5'81/002-69
8€l - |sixorw]sixovn| 09 [vie|vsz] vL |ose] 0z |129]908]0se|0ze|0sz|ovL| 66 [00L| 0z [8cz|Szz[08L[sov| z | 9L [esi|svi[GLL] 69 | ¥ [ 8] 8L [00z|ooL|veL] 08 | Si/00Z-G9
88 - s ixeew]s1xzen] os [99z]91z] 2l [0/z] GI |6.v]299]00€]08z[zLg|OFL] G6 |00L] 82 [864]002[091[09€] Z | 91 [G8L[S¥L[GLL] 9 | ¥ | 8] 81 [00Z]09L|¥EL] 08 | 2'6/091-G9
vz8| - |s1xzen|sIxeeN] 05 [99z]9le| 2L [0s2] S |6.%]229]00€]082]2lz[OovL| G6 [00L| 82 [861]002/09L[09€] 2 | 91 |g8L|Swi|GLL] 9 | v | 8| 8L |002[09L[vEL] 08 | S°2/091-69
veL] - |SIXZEN[SIXCEN] 0S [992]9lz] ) |0/2] G |6.¥]229]00€]08Z[2lz[ovL| G6 [00L| 82 |86L]08L[09L]0vE] 2 | 91 |G8L[SwL|GLL] G9 [ ¥ | 8| 81 |00zZ[09L[veL] 08 | G2/521-69
09 | 09 |sixzem|sixeew| os [99z|9lz]| z) [0sz] G |6.%]229]00€|082]zlz[ovL| G6 [00L| 82 |86L]08L[09L|ore] 2 | 9L |gsL|sri]sLL] g9 [ v | 8] 8L |ooz[o9L[veL] 08 | gS/52L-69
106 - |SIXZEN[SIXCEN] 0S [99z]9le] ¢l [0/2] G |6.%]299]00€]G92[2lz[GLL] 02 [00L] 82 [861]002[09L]09€] ¢ | 91 |G91[G2k] G6] 0S| - | ¥ | 91 |G8L[SwL][GLL] G9 | 2'6/002-0S
16 - [sixeew]s1xzen] os [99z]91z] 2L |0/z] SL |6/v]229]00€]S9z[zbz|GLL] 02 [00L] 82 [86L]08L[09L[0ve] Z | 91 [S9L[SzL| G6 ] 0S | - | ¥ | 9t |S8L|GPL|GLL] S9 | S2/091-0G
8¢9 | 8'€9 |5 1xzeN[s LxeeN] 05 [99z]9lz] ) [0/2] G |6.¥]229]00€|59z]2lz[GLL] 02 [00L| 82 [86L]08L 09L|ove] 2 | 9L |G9L[szL[G6| 05 | - | ¥ | 9L |g8L[svL[GLL] 69 | G'S/091-0S
96y | 9G¥ |G 1X0ZN[S L1XSZIN] 0S [0¥2]06L] ¢ [0ze| G |S6€]045] 52| 0ve[06L]vLL] 02 [00L] 0Z 12109k [zeL]262] ¢ | 9L |G9L[Geh] G6] 0S| - | ¥ | 91 [SG8L[SwL[SLL] G9 | 0/S2L-0S
GGe | G6e |SIX0ZN|GLXSZN| 0¥ [ 002|094 ] 2L |0zz] SL |88e[8vS|¥Sz| 0tz 06L|vLl| 02 [00L] 2¢ [SSL]09L[2el|z62] 2 | 91 [sol|seL|s6| 0S| - [+ ] 91 [s8LisvL|SLL] 9 | 0°€/s21-06
28 - s ixeew[s1xzen] os [99z]91z] 2L [0/z] SI |6/v]229]00€]S9z[zbe|GLL] 0L [00L] 82 [864]08L[09L[0vE] 2 | ¥L [0SL[OLL] 08 [ O | - [ ¥ ] 91 [S8L|GYL|GLL] S9 | S'Z/00z-0%
zzL] zzl |s1xeen|sLxeeN] 05 [99z]9lez| 2 [0/2] G |6.2%]229]00€]592]2iz[SLL] 02 [00L| 82 [86L]08L[09L|ovE] 2 | ¥L |osL|oLL| 08| or | - | ¥ | 9L |g8L[SwL][GLL] 69 | S°5/002-0v
9y | 9y [S1X02N[S L1XSZN] 05 [0tz 06L] 2 [0ze| S [S6e]0SS]vSe]ovz[o6L[8LL] 02 [ 08 [ 0z [L2L]09k[zeL]z6z] L | ¥1 [osi[ovi[ o8] o [ -] ¥ [ 91 [S8L[Sw[SLL] 9 | 0%/091-0¥
Gzv | Gzw |SLx0zW|GLxszW| ov [00z|09L] zL |ozz| 6L |88e[8zs|vsz|ovz|o6L|8LL] 02 | 08 | ze [esi|o9L[zel[z6z] L [ ¥L [osL{oLL]| 08| ov | - [ v ] 91 [s8L|spvL[GLL] 9 | o'€/09L-0v
18 - [sixeew]s1xzen] os [99z]91z] 2l [0/z] GI |6.v]209]00€]0vz[06L]6LL] 0L ] 08 ] 82 [86L]08L[09L[0VE] L | ¥I [O¥L[00L] GZ ] g€ | - [ ¥ ] 91 [S9L]GeL] G6 | 0S | SZ/00z-2E
81.] 81, |SIX2eN[SIX2EN] 0S [99z]9le| 2 [0s2] S |6.%]209]00€|0¥2]06L]6LL] 02| 08 | 82 861 08LI09L[0vE] L | ¥L |ovL|00L] G2 | 2e | - | ¥ | 9L |S9L[szL] 66 | 05 | S'S/002-2¢
() ZS |2a| e |ed|ena|lel|[l]] 1s|a| M| Ld|INa
ZA IAN (€121 11| D |9 | 4|0 |8 |V |aN|[IN|]W|M|YH |vH|EH|ZH|IH| H | B 1oPOW
[46%] o\ @ |08 2z 0| Q|0 | @
JVISIETYY [wuw] suoisuswig
] H
L] L}
i~ N
& | 00¢
7ie—7
d o <+ T
G6 [
%74 we 6¢8
‘61 | i
N ¢ b4 £ _ _
(1] U
L] L}
S =
o )
N h o= _ﬂ N 1S
T _”v
IN [
Glg — _ _ 3 ) d
_ —
INQ /ﬂ% ! ! 4 —
o— oo W
& - =S 818-7 T | ™H & &
® i
_ /D % il
| gV, i
X
_ 0000000 H
00000000
| A
S = L
_ _m ] O
8187 _ (0] @_
7 m N
v Zd
20

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT S50Hz
Rev. Y
PUMP 3(.)S 40, 50, 65
D2
P2 M40x1.5
DN2, 350
& %
Z-p18
s — o
- o
x
J11
B| & & |
| W
© $
l_ Z-¢18
-
M 0 [
100
w
25 720 25
F
4-¢18
2
Dimensions [mm]
Pump type | @ gigiQ o s g0 Weight
HiHIEH2iH3: W ¢ B | F | [kaf
DN1 | P1iK1iD1:S1}{[1]:[21iDN2;P2;{K2;D2}8S2 [kof ]
40-200/11 65 [ 115/145;185; 16 | 4 - 40 ¢ 80 :{110: 150} 14 382} 160¢ 180} 238 110 | 796 | 831 | 117.8
50-200/11 | 65 [115i145i{185; 16} 4 { - | 50 | 95i{125{165} 16 {402} 160} 200} 238} 110 | 796 | 831 | 117.8
50-200/15 | 65 [ 115:145: 185 16 | 4 - 50 § 95:125;165; 16 | 402} 160; 200} 238; 110 ; 796 ; 831 | 147.9
65-160/11 | 80 | 134:160:200¢ 18} 8 | 4 | 65 }115;145i 185} 16 {402} 160} 200} 238:122.5; 796 | 844 | 86.8
65-160/15 | 80 [ 134:160;200; 18 | 8 4 65 :115:145: 185} 16 {402} 160 200} 238:122.5; 806 ; 854 | 120.9
[1] Standard [2] On request

409

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y
PUMP 3LSZ 32-125/160, 32-200/3/4, 50-125/2.2, 65-125/4
B
D2
i M25x1.5 A
/-918
I © -
4-9¢18 ﬁ
Q@ /g
DNZ2
Dimensions [mm] Weight
Model (2] (%] 2] ] ] ] 1] (2] [kgf]

DN2| P2 | K2 | D2 | S2 (*)

%)

DN1| P1 K1 D1 | S1 F
32 | 75 | 100 | 140 | 14 | 252| 112|140 | 139 | 80 | 213| 430 | 168 | 100| 15 9 | 130( 205|225 325|117 |190| 231 247

9

9

32-125/1.1 | 50 | 95 | 125 | 165 | 16
32-160/1.5 | 50 | 95 | 125 | 165 | 16
32-160/2.2 | 50 | 95 | 125 | 165 | 16
32-200/3.0 | 50 | 95 | 125 | 165 | 16
32-200/4.0 | 50 | 95 | 125 | 165 | 16
50-125/2.2 | 65 | 115 | 145 | 185 | 16
65-125/4.0 | 80 | 134 | 160 | 200 | 18

32 | 75 | 100 | 140 | 14 | 292| 132|160 | 148 | 80 | 254 | 477 | 186 | 125| 25 170| 210|230 | 42 | 105|210| 29.8 29.8
32 | 75 | 100 | 140 | 14 | 292| 132|160 | 148 | 80 | 254 | 477 | 186 | 125| 25 1701 210|230 | 42 | 105|210| 324 32.4
32 | 75 | 100 | 140 | 14 | 340|160 | 180 | 155| 80 | 296 | 528 | 205|140 | 22.5 | 11 | 185| 160|202 | 41 |106|210| 46.9 46.9
32 | 75 | 100 | 140 | 14 | 340|160 | 180 | 171 | 80 (296 | 550 | 212 | 140| 225 | 11 | 185|190 | 228 | 41 | 106|210 49 49
50 | 95 | 125 | 165 | 16 | 292| 132| 160 | 148 | 100 | 254 | 497 | 186 | 125| 25 9 | 170 210|230| 42 | 105|210 329 329
65 | 115 | 145 | 185 | 16 | 340| 160 | 180 | 171 | 100 | 254 | 570 | 212 | 140| 22.5| 11 | 185|190 | 228 | 42 | 105|210 50.1 50.1

FIFNIENIFN N FN N [N

(*) Only for IE3 Motors

410

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

5

OHz

Rev. Y
PUMP 3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5, 50-125/3/4, 50-160
50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2
B
D2
P2 A
DN2 Vi V2 7918
~ L0156 |
: ‘
T J
ATy
-
M
15 [N
] i ‘E 3 2 o
. ] 000000000 I
T | —— S
—| —| = | gnmmnnnn /4 \ -
[am) - (=) ‘ Uoguuuuut /
B | —— S
L BB -
- 000000000 — @ G+
1 L4 H < T
B 3 o7 T =
Tt gl 1 —
L : ‘
R 119 ‘ ©
C 15
M1 M2
- i —
™ —
‘ il
i [
ol K —
= 2 » ol 9
. J ‘ G ‘
* | |
‘
Dimensions [mm] Weight
Model g 0 00 [ 3 I A I [kaf 1
HiH [ H H|H|R|A[B, CIFIGIL L2iL3iM|MIN
DN1{ Pl | KI | DI |S1|Z DN2| P2 | K2 | D2 |S2 "
32-200/55 | 50 | 95 | 125} 165| 16| 4 | 32 | 75 | 100| 140} 14 | 340 | 160 | 180 | 198} 28 | 80 | 300 | 607 | 479 | 12| 270} 216 | 266 | 50 | 41 | 106 | 210| 71.8 | 71.8
32-200/7.5 | 50 | 95 | 125 | 165| 16| 4 | 32 | 75 | 100 | 140 14 | 340 | 160 | 180 | 198 | 28 | 80 | 300 | 607 | 479 | 12| 270 ; 216 | 266 | 50 | 41 [ 106 | 210 | - 87
40-125(1.5 | 65 | 115 145 185| 16 | 4 | 40 | 80 | 110} 150 | 14 | 252} 112 | 140 | 148 | 22 | 80 | 213 | 477 | 342 | 10| 186 | 140 | 185 45 :325; 117 | 190 | 265 | 265
40-125/22 | 65 | 115 145  185| 16 | 4 | 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 148 | 22 | 80 | 213 | 477 342 | 10 | 186 | 140 | 185 40 ;325 117} 190 | 295 | 295
40-160/3.0 | 65 | 115} 145 185} 16 | 4 | 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 155| 32 | 80 | 254 | 528 387,5| 12 | 220 | 160 | 200} 50 | 42 [ 105} 210 | 425 | 425
40-160/4.0 | 65 | 115 145 185| 16 | 4 | 40 | 80 | 110} 150 | 14 | 202} 132 | 160 | 171| 20 | 80 | 254 | 550 394,5| 12 | 220 | 190 | 240 | 50 ; 42 | 105 210 | 44.6 | 44.6
40-200/55 | 65 | 115 145 185| 16 | 4 | 40 | 80 | 110} 150 | 14 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 ; 479 | 12 | 270 | 216 | 266 | 50 ; 41 | 106} 210 | 72.2 | 722
40-200/75 | 65 | 115 | 145 | 185| 16 | 4 | 40 | 80 | 110| 150 | 14 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 | 479 | 12 | 270 | 216 | 266 | 40 | 41 | 106} 210 | - 82
50-125/3.0 | 65 | 115 145 | 185| 16| 4 | 50 | 95 | 125 165 16 | 292 | 132 | 160 | 155} 32 | 100 | 254 | 548 | 387,5| 12 | 220 160 | 200 | 50 | 42 [ 105} 210 | 355 | 355
50-125/4.0 | 65 | 115 145 | 185 | 16| 4 | 50 | 95 | 125 165 16 | 292 | 132 | 160 | 171} 20 | 100 | 254 | 570 ; 394,5| 12 ;| 220 ; 190 | 240 | 50 | 42 [ 105 | 210 | 456 | 45.6
50-160/5.5 | 65 | 115 145 | 185| 16| 4 | 50 | 95 | 125 165 16 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 | 479 | 12} 270} 216 | 266 | 50 | 41 [ 106 | 210 | 63.8 | 63.8
50-160/7.5 | 65 | 115 145 | 185 | 16 | 4 | 50 | 95 | 125 165 16 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 | 479 | 12 | 270 ; 216 | 266 | 50 | 41 [ 106 | 210 | - 91
50-200/9.2 | 65 | 115 145 | 185| 16| 4 | 50 | 95 | 125 165 16 | 360 | 160 | 200 | 198 | 28 | 100 | 300 | 667 ; 479 | 12| 270} 216 | 266 | 50 | 41 [ 106 | 210| - | 90.7
65-125/55 | 80 | 134 160 | 200 | 18 | 8 | 65 | 115 145, 185 16 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 ; 479 | 12 | 270 216 | 266 | 50 | 42 | 105 210| 60 | 60
65-125/7.5 | 80 | 1341 160 | 200 | 18 | 8 | 65 | 115 145 185 16 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 | 479 | 12} 270} 216 | 266} 50 : 42 [ 105} 210| - | 79.4
65-160/7.5 | 80 | 1341 160 | 200 | 18 | 8 | 65 | 115 145 185 16 | 360 | 160 ;| 200 | 198 | 28 | 100 | 300 | 627 | 479 | 12} 270} 216 | 266 | 50 | 41 [ 106 | 210 | - | 82.4
65-160/9.2 | 80 | 1341 160 | 200 | 18 | 8 | 65 | 115 145 185 16 | 360 | 160 ; 200 | 198 | 28 | 100 | 300 | 667 | 479 | 12} 270} 216 | 266 | 50 | 41 [ 106 | 210 | - 88

(*) Only for IE3 Motors

411

E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y

PUMP 3LSZ 40-200/11, 50-20011/15, 65-160/11/15, 65-200

P M40x1.5

>

H2

SN

/-918

UUUUUUULUUUUY

4 FORI 9 15

Dimensions [mm]

Model 1) [} o o %) 1) 1) o Weight

Fig.| H | H2 | H3 | A B C | [kaf]

DN1| P1 K1 | D1 | 81| Z |DN2| P2 | K2 | D2 | S2
40-200/11 65 | 115 | 145 | 185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 1 | 360 | 180 | 238 | 350 | 796 | 258 | 117.8
50-200/11 65 | 115 | 145 | 185 | 16 | 4 50 | 95 | 125|165 | 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 117.8
50-200/15 65 | 115 | 145 | 185 | 16 | 4 50 | 95 | 125|165 | 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 147.9
65-160/11 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 86.8
65-160/15 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 380 | 200 | 238 | 350 | 806 | 268 | 120.9
65-200/15 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 405 | 225 | 238 | 350 | 806 | 268 | 138
65-200/18.5 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 405 | 225 | 238 | 350 | 850 | 268 | 137.2
65-200/22 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 2 | 405 | 225 | 268 | 360 | 885 - 175
412

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 50Hz
Rev. Y
PUMP 3LS 80-160
@ 200
® 135 175 175
M40x1.5
DNEQ M40x1.5 B-918 2-63/8
N
o~
[a2] w0
o
8 8 8 e | &
sl v & 2180
Z§/ ‘ y
m =
24 o .
(=]
‘ N 4-p15 65
125 20 250
125 621 320
B
350
<
T
N
+ ¢ =
< <
- 8
Weight
P t B H3 G
ump type [kgf]
80-160/11 831 238 317 145.8
80-160/15R 831 238 317 157
80-160/15 831 238 317 157
80-160/18.5 875 238 317 151.2
413

=TV T

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

50Hz

DIMENSIONS AND WEIGHT

Rev. Y

PUMP 3LS 65-250, 80-200, 80-250/37

GEE | STLXOPN | STLXOPIN | 2L | 6L | 66€ [ SLC | 69€ {610l | 00C | 00C | 8S€ | 08 | 88€ | BLE mom_ow 09 | 00v | GLE | 02k | GzL | Gz | L | 0oe | 08z | 00z | 08y | zz | 00z | Seb fz B4 08| vz | Gze | 08L | GSL | 00L L€/052-08
202 | STVXZEN | GUXCEW | ¥L | GL [ 09€ | S'¥C | 62€ | 016 | 28) | GLL | 00€ | L | 8VE | 6.C _\vwﬁmm GZlL 1 Gve | 082 | G6 | Gel | g | €L |89z | 0Sz | 08L | OEv | ¢ | 00¢ | Seb iz Bid 08| ve | Sez | 08L | SSL | 00L 22/002-08
02€ | S'LXOPN | S'LXOpIN | 2L | 6L | 66€ [ Sk | L¥E | 996 | 00C | 00Z | 8SE€ | 08 | 88€ | 8LE mom_ow 091 109¢ | 082 10zl | 00L | Sz [ SL [00€ | 0SZ | 002 | 0G¥ | 0z | G8L | 0ZL |1 'Bi4 G9| zz |00z | 09} I GeL | 08 1£/052-59
€0€ | STLXOPN | STLXOPIN | ZL | 6L | 66E [SLZ | L¥E | 996 | 00C | 00C | 8SE€ | 08 | 88€ | 8LE mcm*om 091 | 09¢ | 082 | 0zl | 00L | Gz | Sl | 00E | 0SZ | 00Z | 0S¥ | 0 | G8L | 0zL [ 'Bid 69| zz |00z | 09} | SEL | 08 0€/052-G9
U3l N LA sajea; o [E] 2 g (A28 N2 20 B2 B o I A 11 hl _:2 W N | IN| M ¥ |GH|VH | €H | ¢H H H |[2s}z2a| ad ¢Na 1S | 1a X ld | INQ
ol
BUSTETYY [wuw] suoisuswig 2dy dwnd
. -
[ -
G-t
¢ A
— Led
] i
[}
ZN [E 1 ] ]
i 1l
Cae—v P 7 ] 7
o
- ..l: .Wl
(R —
T .;L/
I ™
= _ 3
- - L L] - L =}
o3 i iy = |-
- |
_ I
4] |1V
T | [
3 T
b3 ] | d
- x f 15
i __
| !
! ! o
T 1A "
Lo ) ]
Hie-H ' ' ZND
£y ¥ Zd

414

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. Y
PUMP 3LS 80-200/30/37, 80-250/45
¢ 200
Vi
® 135 8-818 Al A2
V2
DN8Q
/ 2-G3/8
N
N — ——
$ /
24 \
M)
2 |
—LE R g
: i
& 8 8 : o T
S 22 ———1——- - Su e -
s ® & : (2180
| :
j
-
= ] | g S =
+
] 11 1l
4-9D3 M1
N1
L F1 N2
B
LS
n
3 4 A
4-017
H$— ¥ o 3
Pump type Dimensions [mm] V\{Iflggf]ht
H | H1 | H2 | H3 [H4iH5] W | N1 N2 | M | M1 L |11/ 12{13/ 15 A1 A2} B | C | F1| G D3 W1 V2
80-200/30 | 450 | 2001 250 | 300 | 20 1 25| 95 | 280 | 360 | 130 | 80 | 305 318 | 388 | 80 | 358 | 200 | 200| 991 | 341 | 21.5 | 399 | 14 | M40x1.5| M40x1.5| 306
80-200/37 | 450 | 200 | 250 | 300 | 20 | 25| 95 | 280 | 360 | 130 | 80 | 305 | 318 | 388 | 80 | 358 | 200 | 200 | 991 [ 341 | 21.5 | 399 | 14 | M40x1.5| M40x1.5| 325
80-250/45 | 505 | 225 | 280 | 335 | 25 | 28| 120 | 315 | 415 | 165 | 100 | 311 | 356 | 436 | 80 | 386 | 225 | 225| 1060 | 385 | 37.5 | 465 | 18 | M50x1.5 | M50x1.5| 401

415

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

8 225

DIMENSIONS AND WEIGHT 50Hz
Rev. Y
PUMP 3LS 80-250/55
¢ 200 M50x1.5
¢ 135 / M50x1.5 275 275
o DN8Q [ 2-G3/8
% CJF
2 — - : \| _ /
U U FE] 8 8918 , -
V== —= D N
e :rl-rrl—:— a;"b §
Bl
oo o | R
3 4-919 ""
315
850 26 405
1151
500
2-924
e 4+ § 5
Weight: 489 kgf
416

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y

PUMP 3(.)P 32, 40, 50, 65

ZH LH

-
c;:[
[Fa
=1

= =z = 2 T =: 1 i g
_@’\\-\_ . *@_.‘
g1z
e )

B1
V2
A .";_
i/
I

B
—_—
[

B
L:. =
3
E
T
}(-\ Only for 32-200/5.5/

P A o [ l"'. o
. 4—@15

Only for 30-125/2.2,/3/4
B5/175/4

-

\
|/-. -\-\'
Al

| o
l |I|‘ II|II || \ = g
] JI':IL \ §
f |
— celed [ e g - 2
] I f ! el
o T b - \{'“:Eg;qﬁk ig
o el 2 —7 M— - | ?Pr"i"m )4 S 2
e - NyE :
LI 30 e &8 -
. - o 3
A LT e :
4l [ : :
25 LN @. (3__} ua_
I

417
% E2ARA EBARA PUMPS EUROPE SpaA.




50Hz
Rev. Y

ysenbaiuQ [g]  prepuess[L]  siojoy €31 404 AUO (4)

3 SERIES

PUMP 3(.)P 32, 40, 50, 65

681 - | GUXZEN | STIXZEIN | #4HE | 09€| 0S| OLY| 008|001k |289|0GL 1| 962|001 | 892|522 |08)|GSH| 91 |S8L|GHL|GLL| G9 | ¥ | 8 |8L|00Z|09L|¥EL| 08| 22/002-G9
#it| - | SIXOVIN | G LXOVIN | ##4E | 06€| 021 | 08E| 008|00L|259|SLLL| 962|001L|8€Z | S22 |08L|SST| 91 |S8L|GYL|GLL| G9 | ¥ | 8 |81L|00Z|09L|¥EL| 08| S'81/002-G9
€1 - | GUXOVIN | STLXOPIN | # | 0£€| 02| 08E| 008|004 |809| L20L| 962|001 | 8€Z |S2Z |08)|GSH| 9L |S8L|GHL|GLL| G9 | ¥ | 8 |8L|00Z|09L|¥EL| 08| S1/002-G9
621 - | GUXOVIN | STLXOPIN | # | 0£€| 02| 08E| 008|004 |809| L20L| 962|001 | 8€Z|00Z |09L|0LY| 9L |S8L|GHL|GLL| G9 | ¥ | 8 |8L|00Z|09L|¥EL| 08| GL/09L-G9
| - | SUXOVIN | G LXOVIN | ##HE | 06€| 021 | 08€| 008|00L|809| LL0L| 962|00L|8€Z|00Z |09L|0LY| 9L |S8L|GYL|GLL| GO | ¥ | 8 [8L]00Z|09L|¥EL| 08|  LL/09L-G9
8Ll - | G IXZEN | STIXZEIN | 0S8 | 00E| 06 | 0GE | 069|004 |28Y| G+6 | 962|001 | 861 [00Z |09L|0LY| 9L |S8L|GHL|GLL| G9 | ¥ | 8 |8L|00Z|09L|¥EL| 08 Z'6/09L-G9
i - | SLXZEIN| STLXZEN | 068 | 00€ | 06| 0GE | 059|004 |ZiY| S06 | 962|001 | 861|002 |09L|0LY| 9L |S8L|SPL|GLL| G9 | ¥ | 8 |8L|00Z|09L|vEL| 08| S 2/091-G9
) - | SLXZEIN| STLXZEN | 068 | 00€ | 06€| 0GE | 0S9|00k|ZiY| S06 | #GZ|00L| 861|081 |09L|06E| 9L |S8L|SPL|GLL| G9 | ¥ | 8 |8L|00Z|09L|vEL| 08| S 2/5ZL-S9
66 | 66 |SILXZEW |G IXZENW | 068 | 00€ | 06€|0SE | 059|001 |ZhP| S06 | ¥S2|00L| 8614|081 |09L|06E|9L|S8L|SYL|GLL| G9 | ¥ | 8 [8L|00Z|09L|¥EL| 08| S'S/S2L-G9
1'G8| 1°G8 | G LXOZ | S'LXGZIN | 0GZ | 00E | 06€ | 0GE | 06S| 08 |88€| LS8 |#SZ|00L| LLL| 081|091 06E|9L|S8L|SPL|GLL| SO | ¥ | 8 |8L|00Z|09L|vEL| 08|  ¥/SZL-G9
#H#| - | SIXOVIN | G LXOVIN | ### | 06€| 02| 08€|008(00L|809| LL0L| 962 |00k|8EZ|00Z|09L|0LY| 9L |G9L|SZL| G6 | 0G | - | ¥ |9L|G8L|SYL|SLL| S9| S1/002-0S
#H#| - | SIXOVIN | G LXOVIN | ### | 06€| 021 | 08€|008(001|809| LL0L| 962 |00k|8EZ|00Z|09L|0LY| 9L |G9L|SZL| G6 | 0G | - | ¥ |9L|G8L|SYL|SLL[ S9| L1/002-0S
LLL - | 9 IXZEN | ST IXZEN | 068 | 00€| 06 | 0SE | 0S9|0014|2Z8Y| S+6 | 962|001 | 861 |00Z|09L|0LY| 9L |S9L|GZL| S6 | 0S | - | ¥ |9L|S8L|SPL|GLL| 9| Z'6/002-0S
| - | SIXZEIN | GLXZEN | 0S8 | 00€ | 06€ | 0SE| 059|004 | 2P| S06 |962|00L| 861 |08L|091|06E| 9L |S9L|SZL| G6 | 0G | - | ¥ |9L|S8L|SYL|SLL| S9| S'2/091-0G
86 | 86 |SLXZEN |G LXZEN | 0S8 | 00€ | 06€E | 0SE|0S9|00L|Z1Y| S06 |962|00L| 861 |08L|09L|06E|9L|G9L|SZL| G6 | 0G | - | ¥ |9L|G8L|SYL|SLL| S9| S§'G/091-0G
9Y¥8| 9¥8 | S IXOZN | G'LXGZIN | 0GZ | 00€|06€|0SE| 06| 08 |88€| LG8 [#SZ|00L| LLL|09L|ZEL|2PE|9L|SOL|SZL| G6 | 0G | - | ¥ |9L|G8L|SPL|SLL| S9|  +/S2L-0S
G'Z8| G78 |G IX0ZW | STIXSZIN | 0GZ | 00| 06€|0SE| 06S| 08 [99€| 628 | ¥SZ|00L| GSL | 091 |ZEL|2PE|9L|G9L|SZL| G6 | 0G | - | ¥ |9L|S8L|SPL|SLL| G9|  €/52L-0S
G/ | GL |SIXOZN |G LXGZ | OLZ | 00E| 06€E|0GE|0SS| 08 |ZLE| 082 |¥GZ|00L|8FL|09L|2ZEL|ZVE| 9L |GOL|SZL| G6 | 0G| - | ¥ |9L|G8L|SYL|SLL| S9| Z'Z/szL-0G
| - | SIXOVIN | G LXOVIN | ##HE | 08€| 021 | 08E| 008|00L|809| L2Z0L| 962|00L|8€Z | 081 |09L|06E| ¥L|0SLIOLL| 08 | OF | - | ¥ |9L|S8L|SGFL|GLL 9] L1L/00Z-0b
| - | SIXZEN | G LXZEN | 0S8 | 00€ | 06€ | 0GE | 069|00L|Zh| G06 | 962|00L| 864|081 |09L|06E| ¥L|0SLIOLL| 08 | OF | - | ¥ |9L|S8L|GFL|SLL| 9| G 2/002-01
86 | 86 |SLXZEW |G LXCENW | 068 | 00€| 06€|0SE| 059|001 (2| S06 |962|00L| 8614|081 |09L|06E|¥L|0GL|OLL] 08 | OV | - | ¥ [9L|G8L|G¥L|SLL| G9| S'S/002-0F
99| 9/9 |G LX0ZN | S LXGZIN | 0GZ | 00€|06€ | 0S| 06S| 08 |88€| L€8 | #SZ| 08 | LLL|09L|ZEL|2HE| ¥L|0GL|OLL| 08 | OF | - | ¥ |9L|G8L|SPL|SLL| GO  #/09L-0%
18 18 | SLXOZIN | G'LXGZ | 0SZ | 00E| 06€|0SE | 06| 08 |99€| 608 | ¥S2| 08 |SGL|09L|2EL|Zve|¥L|0GL|OLL] 08 | OV | - | ¥ |9L|G8L|GYL|SLL| 69|  €/09L-0F
K LG | SLXOZIN | G'LXGZ | OLZ | 0S2|0FE|00E | 0GS| 08 |ZLE| 092 [€L2| 08 |8¥L|O¥L|2LL|20E| L |0GL|OLL] 08 | OV | - | ¥ |9L|G8L|SYL|SLL| 9| Z'2/SeL-0f
86y | 86V |G IXOZN | S LXGZIN| OLL |0SZ|0YE|00E|0SS| 08 |ZLE| 092 |€1Z| 08 |8FL | 0L |ZLL|20E| ¥L|0GL|OLL| 08 | OF | - | ¥ |9L|G8L|SPL|SLL| S9| G L/SZL-0b
| - | SIXCEIN | GLXZEN | 0S8 | 00€ | 06€ | 0SE| 059|004 | 2P| G688 |962| 08 |86 |08L|09L|06E| ¥ |0FL|00L| G2 | 2€ | - | ¥ |9L|S9L|S2L| G6 | 06| G°2/002-2€
16 | 16 |SLXZEN |G LXZEN | 0S8 | 00€ | 06€ | 0SE|0S9|00L| 2P| G688 |962| 08 |86 |08L|09L|06E|¥L|0FL|00L| G2 | 2€ | - | ¥ |9L|S9L|S2L| G6 | 0G| §°'G/002-2€
L'GL| L'GL | SIXOZN | GLXSZIN | 0SZ | 00€ | 06€E | 0SE|06G| 08 |88€E| LE8 |96Z| 08 | LLL|08L|09L|06E| ¥ |0FL|00L| G2 | 2€ | - | ¥ |9L|S9L|S2L| G6 | 0S|  #/002-2€
G| GLL |G IX0ZN | STIXSZIN | 0SZ | 00| 06| 0SE| 065 | 08 [99¢| 608 |96Z| 08 | SSL | 08L|09L|06€| ¥L|OVL|00L| GL | 2€ | - | ¥ |9L|S9L|SZL| 66| 0S|  €/002-2€
G'€G| G'€G |G IX0ZW | SIXSZIN | 0GZ | 00E| 06| 0SE| 06S| 08 [ZLE| 09/ |¥SZ| 08 |8YL | 09L |ZEL|2PE| ¥L|OVL|00L| GL | 2€ | - | ¥ |9L|S9L|SZL| G6 | 0S| 2'2/09L-2
€S| €25 |SIX0ZN | GLXGZIN | 0GZ | 00€|06€|0SE| 06| 08 |ZLE| 092 [#SZ| 08 |8¥L|09L|ZEL|2PE| ¥L|OVL|00L| GZ | 2€ | - | ¥ |9L|G9L|SZL| G6 | 0S| S L/09L-2E
L9 | LGy | SIXOZN | GLXGZIN | OLZ | 0SZ|0¥E|00E| 0SS| 08 |242| SLL [€LZ| 08 |6EL|0VL|ZLL|20€|¥L|OVL|00L| GL | 2€ | - | ¥ |9L|G9L|S2ZL| G6 | 0S| L L/SZL-2e
(+) ZS|za| ey | zd [eNallel|[Ll1s| ta | M| 1d|Na
ZA LA L [eN[ZN|IN| T |a|itgd]| g |V |[H|€H|ZH|IH|H
6] 2 0|3 | @| 2z 0|0 | 2|0 |SpON
BTV [ww] suoisuswig

CENTRIFUGAL PUMPS
DIMENSIONS AND WEIGHT

418

EBARA PUMPS EUROPE S.p.A.




3 SERIES

CENTRIFUGAL PUMPS

50Hz

DIMENSIONS AND WEIGHT

Rev. Y

PUMP 3LP 65-250, 80-160/200/250

L11€ |G UXOPN | STLXOVIN | 8 |61 | - | #i# | ##H |66€|0L1|89.| 99€1 | 09%|065|0€S| G2 )| 09]|00€|08Z|002Z|0vS|2Z|00Z|G€EL| Z 614 08 | ¥2|S22|08L|SSL| 00L| L€/0S52-08
69 |G IXZEW | SLXZEWN | 8 |61 | - | ##H# | ##H | 09€|0LY|289|S8Z 1 |09%|065|0€S|S2L| 09|892|05Z|08L|06¥|2Z|00Z|G€EL| Z B4 08 | ¥2|S22|08L|SSL| 00L| 22/002-08
Z'18L | GLXOVIN | G LXOPIN | G |G |0Z| ### | 008 |LLE€|09€|299|0¥L L |0EE|02Y|08E|SZ1 | 0G|8€Z|G22| 081 |SSY|22|002|SEL| € *Bid 08 | ¥2|S22|08L|SSL| 004 | 5'81/091-08
98l | SLXOVIN | G LXOVIN | G |GL|0Z| ##H | 008 | LL€|09€|809(9601 |0£E|02F|08€E|SZL| 05 |8€E2|S22|08L|SSY| 22 |002|SE)| 2 Bid 08 | ¥Z|S2z|081L|SSL|00L]| S1/09L-08
98l | S'LXOVIN | G LXOVIN | G |GL|0Z| ##4# | 008 | L1€|09€|809| 9601 |0€E|02F|08E|SZL| 0G| 8€ET|S22|08L|SSY| 22 |002|SE)| ¢ Bid 08 | #Z|S2z|08)|GSL| 001 | ¥SL/09L-08
8¥LL | GLXOVIN | G LXOPIN | G |G |0Z| ### | 008 |L1€09€|809| 9601 |0EE|02F|08E|SZ1 | 0G|8€Z|G22| 081 |SSY| 22| 002|SEL| € *Bid 08 | ¥Z|522|08L|SSL| 001 11/091-08
€LE | SIXOVIN | G LXOVIN | 8 |61 | - | ##Ht | ### |66€| 0L1|89L| LYEL|09F|06G|0€S|00L| 09|00€|052|00Z|0LS|0Z|S8L[{0ZL| | *Bl4 9 | 22|00Z|09L|SEL| 08 L€/0G2-G9
¥SE | SUXOVIN | G LXOVIN | 8 |61 | - | ##H# | ### |66€| 0LY|89L| LYEL|09F|065|0€S|00L| 09|00€|052|00Z|0LS|0Z|S8L[0ZL| | B4 9 | 2Z2|00Z|09L|SEL| 08 0€/052-G9
5 ZN LA ds|vals| L 3 |90 |189] 9 |EN|CN|IN| H |VH|€H|CH|LIH| H |ZS|2a|cd ¢Na |ls|iaj x| id|iNa
Lol adA) dwng
ybrapn [ww] suoisuswig
_ 7
I
|
— (¥,
=
Ly
=
=
=
—T

419

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y

PUMP 3LP 80-200/30/37, 80-250/45

# 155

DHI00

125 470 4-319

100 1000

1200

Pump type Dimensions [mm] Weight

(kgf]
H H1 H2 i H3 B B1 G S V1 V2
80-200/30 [ 510 ; 180 : 250 : 300 : 1366 768 : 399 i 20 tM40x1.5:M40x1.5| 356
80-200/37 [ 510 { 180 i 250 | 300 { 1366 768 : 399 { 20 { M40x1.5:M40x1.5]| 365
80-250/45 | 565 ; 200 : 280 : 335 : 1407 809 : 465 | 25 ; M50x1.5: M50x1.5]| 440

420

% E2ARA EBARA PUMPS EUROPE SpaA.




3 SERIES

CENTRIFUGAL PUMPS

50Hz

DIMENSIONS AND WEIGHT

Rev. Y

PUMP 3LP 80-250/55

G09

0S| G

00¢

08¢

163 826 :ybiapn

154 2 4

0Ly SCl

19¢

906G (o

GGl ¢
Scc ¢

421

EBARA PUMPS EUROPE S.p.A.

=TV T



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y

PACKING 3(.)M

Packing [mm] Weight [kgf]
Pack

Pump type XY z * type

G ~1:03~1 ¢ [3~]
32-125/1.1 (M) | 2501300} 4501450] 21,57 29 | 29
32-160/1.5 (M) | 0133014301470/ 24,2 31,7 | 31,7 | 1
32-160/2.2 (M) 3404901 490] 27,3335 | 33,5
32-200/3 - a1 M
32-200/4 550 - a4 T A4
32-200/5.5 350, 488 0 e T 60,5 | 2
32-200/7.5 - - - 656
40-125/1.5 (M) | 250 3001450 450{ 22,3 30 | 30 | TYPE 1
40-125/2.2 (M) | 2801 340|490/ 490| 24,7 | 31,5 315
40-160/3 - 1288 288 —
40-160/4 550{550| - | 46,5 46,5
40-200/5.5 350|488 - 1615 615 | 2
40-200/7.5 - - 1681
40-200/11 - 700 - 1794 >
50-125/2.2 (M) | 280! 340}490/490| 30,81 38 « 38 | 1
50-125/3 - 37 37
50-125/4 550550 - | 47 | 47 \
50-160/5.5 - 1515 515 —
50-160/7.5 350, 488 - - 1676 7
50-200/9.2 - 1700 -7 - 1735
50-200/11 - - 1789
50-200/15 390/532] - 880 - | - 11131 TYPE 2
65-125/4 - M7 a7
65-125/5.5 950, 880 e s A /
65-125/7.5 - - 566
65-160/7.5 350, 488 700} 806 | 2
65-160/9.2 - - 1665
65-160/11 - - 124
65-160/15 - - 11124 >
65-200/15 - o115
652001165 | °20|%32| - | &80T
65-200/22 - - 11341
80-160/11 370/538| - 1680| - | - 1054 _J L \
80-160/15R - - 11361 | v |
80-160/15 370/527| - 860 - | - 1371 ' !
80-160/18.5 - - 11513

(*) Only for IE3 Motors

422

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. Y

PACKING 3(.)S

Packing [mm] Weight Pack
Pump type [kaf]
Type

X | vy z *)
32-125/1.1 450 | 250 | 300 [ 347 | 363 [ 1
32-160/1.5 350 | 488 | 580 | 359 | 359
32-160/2.2 51 51
(**) 32-200/3.0 370 | 538 | 680 | 51.9 | 519
32-200/3.0 519 | 51.9
32-200/4.0 743 | 743
32-200/5.5 350 | 498 [ 700 1=55 T 821
32-200/7.5 . 67 TYPE 1
40-125/1.5 33.3 | 333
40-125/2.2 350 | 488 | 580 I~ T 454 -
40-160/3.0 49 49
40-160/4.0 76.4 | 764
40-200/5.5 350 | 498 | 700 1m0 o a2
40-200/7.5 - 116 >
40-200/11 390 | 598 | 970 | - | 1463
50-125/2.2 330 | 493 | 680 | 37.8 | 37.8
50-125/3.0 496 | 496 "
50-125/4.0 476 | 476 —
50-160/5.5 350 | 498 | 700 1oy 84 v
50-160/7.5 - | 57
50-200/9.2 R 116
50-200/11 390 | 598 | 880 [ - | 1309
50-200/15 - 1729 TYPE 2
65-125/4.0 69 69 2 L
65-125/5.5 774 | 774 ] 1
65-125/7.5 350 | 498 | 700 1 85
65-160/7.5 - 92
65-160/9.2 880 | - 103
65-160/11 o0 | - | 1079 >
65-160/15 390 | 598 - 138
65-200/15 880 | - | 1476
65-200/18.5 970 - | 1665 J L
65-200/22 500 | 727 | 1100 | - 235 ._| | +
65-250/30 - 339 7
65-250/37 480 | 722 1 1080 | 141 ' '
80-160/11 - | 156.9
80-160/15R a70 | 597 860 | - 163
80-160/15 - | 1686
80-160/18.5 503 | 940 | - [ 2255
80-200/22 480 - 284
80-200/30 } 344

722 | 1080

80-200/37 488 - 354
80-250/37 - 429
80-250/45 - 517

580 | 822 | 1380
80-250/55 - 517

(*) Only for IE3 Motors
(**) Only for “Z” version

423

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

. Weight
Pump type Packing [mm] [kg%
Z X Y (*)

32-125/1.1 394 | 4541 46.7
32-160/1.5 434 52.3 52.3
32-160/2.2 53.5 53.5
32-200/3.0 71.5 71.5
32-200/4.0 482 75.1 75.1
32-200/5.5 97 97
32-200/7.5 - 112.2
40-125/1.5 304 49.8 49.8
40-125/2.2 51 51
40-160/3.0 434 81 81
40-160/4.0 67.6 67.6
40-200/5.5 98 98
40-200/7.5 482 106.9
40-200/11 - 127.8
50-125/2.2 75 75
50-125/3.0 434 | 825 82.5
50-125/4.0 84.6 84.6
50-160/5.5 482 98 98
50-160/7.5 106.9
50-200/9.2 111
50-200/11 502 128.3
50-200/15 - 135.4
65-125/4.0 1200 | 800 85.1 85.1
65-125/5.5 482 99 99
65-125/7.5 109.4
65-160/7.5 115.4
65-160/9.2 502 118
65-160/11 124.8
65-160/15 129
65-200/15 547 137
65-200/18.5 135.2
65-200/22 189
65-250/30 685 354
65-250/37 373
80-160/11 174.8
80-160/15R 593 186
80-160/15 186
80-160/18.5 181.2
80-200/22 633 259
80-200/30 356
80-200/37 685 365
80-250/37 377
80-250/45 745 440
80-250/55 811 528

(*) Only for IE3 Motors

Rev. Y

PACKING 3(.)P

424

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

TECHNICAL DATA 50Hz

Rev. Y
MOTOR DATA 3(.)M
Pump type Power Efficiency Capacitor Efficiency (% load) Input Full load current Locked rotor current
Three phase kW] [A] [A]
Single Phase Three Phase kW] | HP] Single | Three | Single Phase n% Single| Three | Single Phase Three Phase Single Phase Three Phase
Phase ! Phase| [uF] | [V] [ 50% | 75% | 100% |phase| Phase| 230V  }230V:400V|690V| 230V 230V | 400V | 690V
3(.)M 32-125/1.1 M | 3(.)M(Z) 32-125/1.1 1.1 1.5 - IE2 31.5 | 450 | 79.5 | 82.0 | 825 | 1.51 1.82 6.7 5.6 3.2 - 23.5 57.0 | 33.0 -
- 3(.)M(2) 32-125/1.1 1.1 1.5 - IE3 - - 83.5 | 84.3 | 846 - 1.77 - 58 | 33 - - 474 | 27.4 -
3(.)M 32-160/1.5 M | 3(.)M(Z) 32-160/1.5 1.5 2.0 - IE2 40 450 | 79.5 | 82.0 | 825 [ 2.10 | 1.82 9.6 5.6 3.2 - 47 57.0 | 33.0 -
- 3(.)M(2) 32-160/1.5 15 2.0 - IE3 - - 83.5 | 84.3 | 846 - 1.77 - 58 ; 33 - - 47.4 | 27.4 -
3(.)M 32-160/2.2 M | 3(.)M(Z) 32-160/2.2 22 3.0 - IE2 50 450 | 83.1 | 85.7 | 86.2 | 295 | 2.55 13.3 78 | 45 - 63.8 75.0 | 435 -
- 3(.)M(2) 32-160/2.2 22 3.0 - IE3 - - 86.2 | 87.0 | 86.0 - 2.55 - 82 | 47 - - 66.6 | 38.4 -
- 3(.)M(2) 32-200/3.0 3.0 4.0 - IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 10.6 | 6.1 - - 100.0| 57.7 -
- 3(.)M(2) 32-200/3.0 3.0 4.0 - IE3 - - 859 | 87.5| 87.1 - 3.44 - 111} 6.4 - - 90.0 | 52.0 -
- 3(.)M(2) 32-200/4.0 4.0 5.5 - IE2 - - 84.3 | 87.2 | 87.8 - 4.56 - 16.1 | 8.7 - - 151.0} 87.0 -
- 3(.)M(2) 32-200/4.0 4.0 55 - IE3 - - 85.8 | 88.3 | 88.4 - 4.52 - 15.1 | 8.7 - - 131.8] 76.1 -
- 3(.)M(2) 32-200/5.5 5.5 7.5 - IE2 - - 829 | 86.0 | 87.4 - 6.29 - - 10.4} 6.0 - - 116.0 | 67.0
- 3(.)M(2) 32-200/5.5 55 75 - IE3 - - 89.2 | 90.6 | 90.4 - 6.09 - - 10.6 | 6.1 - - 1163 | 67.0
- 3(.)M(2) 32-200/7.5 7.5 | 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136} 7.9 - - 144.0 | 83.0
3(.)M 40-125/1,5M | 3(.)M(2) 40-125/1.5 15 20 - IE2 40 450 | 79.5 | 82.0 | 825 | 210 | 1.82 9.6 56 | 3.2 - 47 57.0 | 33.0 -
- 3(.)M(2) 40-125/1.5 1.5 20 - IE3 - - 83.5| 843 | 84.6 - 1.77 - 58 3.3 - - 474 | 274 -
3(.)M 40-125/2.2 M | 3(.)M(Z) 40-125/2.2 22 3.0 - IE2 50 450 | 83.1 | 85.7 | 86.2 | 2.95 | 2.55 13.3 78 | 45 - 63.8 75.0 | 435 -
- 3(.)M(2) 40-125/2.2 22 3.0 - IE3 - - 86.2 | 87.0 | 86.0 - 2.55 - 82 | 47 - - 66.6 | 38.4 -
- 3(.)M(2) 40-160/3.0 3.0 4.0 - IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 10.6 | 6.1 - - 100.0; 57.7 -
- 3(.)M(2) 40-160/3.0 3.0 4.0 - IE3 - - 859 | 87.5| 87.1 - 3.44 - 1.1} 64 - - 90.0 | 52.0 -
- 3(.)M(2) 40-160/4.0 4.0 5.5 - IE2 - - 843 | 87.2 | 87.8 - 4.56 - 151 8.7 - - 151.0} 87.0 -
- 3(.)M(2) 40-160/4.0 4.0 55 - IE3 - - 85.8 | 88.3 | 88.4 - 4.52 - 16.1 1 8.7 - - 131.8] 76.1 -
- 3(.)M(2) 40-200/5.5 55 75 - IE2 - - 829} 86.0 | 87.4 - 6.29 - - 10.4 | 6.0 - - 116.0 | 67.0
- 3(.)M(Z) 40-200/5.5 5.5 7.5 - IE3 - - 89.2 | 90.6 | 90.4 - 6.09 - - 10.6 | 6.1 - - 115.3 | 67.0
- 3(.)M(2) 40-200/7.5 7.5 | 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136} 7.9 - - 144.0 | 83.0
- 3(.)M(2) 40-200/11 11.0 | 15.0 - IE3 - - 90.4 | 91.2 | 91.8 - 11.98 - - 21.3 | 123 - - 184.0 | 107.0
3(.)M 50-125/2.2 M | 3(.)M(Z) 50-125/2.2 22 3.0 - IE2 50 450 | 83.1 | 85.7 | 86.2 | 295 | 2.55 13.3 78 | 45 - 63.8 75.0 | 435 -
- 3(.)M(2) 50-125/2.2 22 3.0 - IE3 - - 86.2 | 87.0 | 86.0 - 2.55 - 8.2 | 47 - - 66.6 | 38.4 -
- 3(.)M(2) 50-125/3.0 3.0 4.0 - IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 10.6 | 6.1 - - 100.0 57.7 -
- 3(.)M(2) 50-125/3.0 3.0 4.0 - IE3 - - 859 | 87.5| 87.1 - 3.44 - 111} 6.4 - - 90.0 | 52.0 -
- 3(.)M(2) 50-125/4.0 4.0 5.5 - IE2 - - 84.3 | 87.2 | 87.8 - 4.56 - 15.1 | 8.7 - - 151.0} 87.0 -
- 3(.)M(2) 50-125/4.0 4.0 55 - IE3 - - 85.8 | 88.3 | 88.4 - 4.52 - 15.1 | 8.7 - - 131.8] 76.1 -
- 3(.)M(2) 50-160/5.5 5.5 7.5 - IE2 - - 829 | 86.0 | 87.4 - 6.29 - - 10.4} 6.0 - - 116.0 | 67.0
- 3(.)M(2) 50-160/5.5 55 75 - IE3 - - 89.2 | 90.6 | 90.4 - 6.09 - - 10.6 | 6.1 - - 1153 | 67.0
- 3(.)M(2) 50-160/7.5 7.5 | 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136} 7.9 - - 144.0 | 83.0
- 3(.)M(2) 50-200/9.2 9.2 12.5 - IE3 - - 90.1 | 90.8 | 90.9 - 10.12 - - 17.2 | 10.0 - - 166.0 | 96.0
- 3(.)M(2) 50-200/11 11.0 | 15.0 - IE3 - - 90.4 | 91.2 | 91.8 - 11.98 - - 213} 123 - - 184.0 | 107.0
- 3(.)M(2) 50-200/15 15.0 | 20.0 - IE3 - - 91.2} 92.0 | 91.9 - 16.32 - - 27.7 | 17.3 - - 225.0 { 130.0
- 3(.)M(2) 65-125/4 4.0 5.5 - IE2 - - 84.3 | 87.2 | 87.8 - 4.56 - 151 87 - - 151.0; 87.0 -
- 3(.)M(2) 65-125/4 4.0 5.5 - IE3 - - 85.8 | 88.3 | 88.4 - 4.52 - 161 8.7 - - 131.8} 76.1 -
- 3(.)M(2) 65-125/5.5 55 75 - IE2 - - 829 | 86.0 | 87.4 - 6.29 - - 104 | 6.0 - - 116.0 | 67.0
- 3(.)M(2) 65-125/5.5 5.5 7.5 - IE3 - - 89.2 | 90.6 | 90.4 - 6.09 - - 10.6 | 6.1 - - 115.3 | 67.0
- 3(.)M(2) 65-125/7.5 75 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 7.9 - - 144.0 | 83.0
- 3(.)M(2) 65-160/7.5 7.5 | 10.0 - IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136} 7.9 - - 144.0 | 83.0
- 3(.)M(2) 65-160/9.2 92 | 125 - IE3 - - 90.1 | 90.8 | 90.9 - 10.12 - - 17.2 10.0 - - 166.0 | 96.0
- 3(.)M(2) 65-160/11 11.0 | 15.0 - IE3 - - 90.4 | 91.2 | 91.8 - 11.98 - - 21.3 | 123 - - 184.0 | 107.0
- 3(.)M(2) 65-160/15 15.0 | 20.0 - IE3 - - 91.2 | 92.0 | 91.9 - 16.32 - - 27.7 1 17.3 - - 225.0 | 130.0
- 3(.)M(2) 65-200/15 15.0 | 20.0 - IE3 - - 91.2 1 920 | 91.9 - 16.32 - - 27.7 | 173 - - 225.0 | 130.0
- 3(.)M(2) 65-200/18.5 | 18.5 | 25.0 - IE3 - - 91.6 | 93.0 | 92.6 - 19.98 - - 35.0 | 20.3 - - 328.0 { 190.0
- 3(.)M(2) 65-200/22 22.0 | 30.0 - IE3 - - 92.0 } 93.1 | 93.2 - 23.58 - - 39.7 | 23.6 - - 391.0 | 227.0
- 3LM 80-160/11 11.0 | 15.0 - IE3 - - 90.4 | 91.2 | 91.8 - 11.98 - - 213} 123 - - 184.0 | 107.0
- 3LM 80-160/15R 15.0 | 20.0 - IE3 - - 91.2} 92.0 | 91.9 - 16.32 - - 27.7 | 17.3 - - 225.0 { 130.0
- 3LM 80-160/15 15.0 | 20.0 - IE3 - - 91.2 1 92.0 | 91.9 - 16.32 - - 2771 17.3 - - 225.0 | 130.0
- 3LM 80-160/18.5 18.5 | 25.0 - IE3 - - 91.6 | 93.0 | 926 - 19.98 - 35.0 | 20.3 - - 328.0 { 190.0

500

E2ARA EBARA PUMPS EUROPE SpA.



CENTRIFUGAL PUMPS

3 SERIES

50Hz

TECHNICAL DATA

MOTOR DATA 3(.)S-3(.)P

Rev. Y

Motor Efficiency (% load) Full load current Locked rotor current
Pump type Power - Input and power-factor [A] [A]
“g?ztgr i | e Efficiency | powi n% cos—b | 230V | 400V | 690V | 230V | 400 V | 690 V
50% | 75% | 100%

11 15 IE2 135 [795[81.2] 815 ] 0.78 | 43 | 25 - 294 | 17.0 -

3()S(2) 3212511 3()P 32-125/1.1 80 3 T8 IE3 126 | 787817 827 | 076 | 42 | 24 - 38.7 | 22.3 -
15 | 2 IE2 1,77 [81,0[ 82.8] 828 | 0.80 | 55 | 3.2 - 449 | 259 -

3()5(2) 32160115 ()P 32160115 | 908 e IE3 1.77 [ 83.2[84.8] 842 085 | 52 | 3.0 - 436 | 252 -
22 | 3 IE2 2,59 | 825]84.0] 840 | 0.85 | 76 | 44 - 64.8 | 374 -

3()8(2) 32-16072.2 3()P 32-16012.2 | S0L 5o IE3 261 |850[862] 865 | 0.82 | 80 | 46 - 73.3 | 423 -
3 4 IE2 343 | 84.1]/858] 855 | 0.84 | 102 | 5.9 - 81.8 | 47.2 -

3()5(2) 32-200/3.0 3()P 32-200/3.0 | 100L \—5 4 IE3 345 | 823|858 871 | 089 | 9.7 | 56 - 854 | 49.3 -
4 [ 55 IE2 464 | 852|864 86.1 | 086 | 135 | 7.8 - | 1109 64.0 -

3(.5(2) 32-200/4.0 3()P 32-200/4.0 | 112M =575 IE3 451 [86.8]87.8] 88.1 | 093 | 121 | 7.0 - | 1164 ] 672 -
55 | 75 IE2 6,34 | 85.8|87.4] 87.3 | 0.88 - 104 | 6.0 - 83.2 | 48.0

3()8(2) 32-200/5.5 3()P 3220055 | 1355 55 [ 75 IE3 6.24 | 88.0| 885] 89.2 | 0.90 - 100 | 58 - 89.0 | 514
3()S(Z) 32-200/7.5 3(.)P 32-200/7.5 75 | 10 IE3 8.35 | 88.6| 89.2] 90.1 | 0.92 - 131 | 76 - | 1166 67.3
15 2 IE2 1,77 [ 81.0[82.8] 82.8 ] 080 | 55 | 3.2 - | 449 ] 259 -

3()S(2) 4012515 3()P 40-128/15 | 90S g IE3 177 | 832848 842 ] 085 | 52 | 3.0 - 436 | 252 -
22| 3 IE2 259 | 825|840 840 | 085 | 76 | 44 - 64.8 | 374 -

3()S(2) 40-125/2.2 3()P 4012522 | 9O0L |55 3 IE3 261 850|862 865 | 082 | 80 | 4.6 - 73.3 | 423 -
3 4 IE2 343 | 84.1|858] 855 | 0.84 | 102 | 59 - 81.8 | 47.2 -

3()S(2) 40-160/3.0 3()P 40-160/3.0 | 100L | 4 IE3 345 | 823|858 871 0.89 | 9.7 | 56 - 854 | 49.3 -
4 | 55 IE2 464 | 852|864 86.1| 0.86 | 135 | 7.8 - | 1109] 64.0 -

3()S(2) 40-160/4.0 3()P 40-160/4.0 | 112M —— 775 IE3 451 | 86.8|87.8] 88.1| 093 [ 121 | 7.0 - | 1164 672 -
55 | 7.5 IE2 6,34 | 85.8| 87.4| 87.3 | 0.88 - 104 | 6.0 - 83.2 | 48.0

3()(2) 40-200/5.5 3()P 4020055 | 4355 5575 IE3 6.24 | 88.0| 88.5| 89.2 | 0.90 - 10.0 | 5.8 - 89.0 | 514
3(.)S(Z) 40-200/7.5 3(.)P 40-200/7.5 75 | 10 IE3 8.35 [ 88.6] 89.2] 90.1 | 0.92 - 131 | 76 - | 1166 673
3(.)S(Z) 40-200/11 3()P 40-200/11 | 160M | 11 | 15 IE3 12.15[87.4[89.8] 91.2 | 0.89 - 197 | 114 - [ 179.3] 1035
22| 3 IE2 2,59 [ 82.5]84.0] 840 085 | 7.6 | 44 - 64.8 | 37.4 -

3()8(2) 80-125/2.2 3()P 8012522 | 90L 55 IE3 261850 86.2] 865 0.82 | 80 | 46 - 73.3 | 423 -
3 4 IE2 343 | 84.1|858] 855 | 0.84 | 102 | 59 - 81.8 | 47.2 -

3()S(2) 50-125/3.0 3()P 50-125/3.0 | 100L \—3 4 IE3 345 | 823|858 87.1| 089 | 97 | 56 - 854 | 49.3 -
4 [ 55 IE2 464 | 85.2]86.4| 86.1 | 0.86 | 135 | 7.8 - | 1109 64.0 -

3(.)S(2) 50-125/4.0 3()P 50-125/4.0 | 112M |———7 IE3 451 | 86.8]87.8] 88.1 | 093 | 121 | 7.0 - | 1164 672 -
55 | 7.5 IE2 6,34 | 85.8|87.4| 87.3 | 0.88 - 10.4 | 6.0 - 83.2 | 48.0

3()8(2) 50-160/5.5 3()P 50-160/55 | 1355 55 [ 75 IE3 6.24 | 88.0 | 88.5] 89.2 | 0.90 - 100 | 5.8 - 89.0 | 514
3(.)S(Z) 50-160/7.5 3(.)P 50-160/7.5 75 | 10 IE3 8.35 | 88.6 | 89.2] 90.1 | 0.92 - 131 | 76 - | 1166 673
3(.)S(Z) 50-200/9.2 3()P 50-200/9.2 | 132M | 9.2 [ 125 IE3 10.17 | 88.6| 89.8] 90.7 | 0.89 - 165 | 9.5 - | 166.7 | 96.2
3(.)S(Z) 50-200/11 3()P 50-200M1 | o [ 11 [ 15 IE3 12.15|87.4|89.8] 91.2 | 0.89 - 19.7 | 114 - | 179.311035
3(.)S(Z) 50-200/15 3(.)P 50-200/15 15 | 20 IE3 16.46 | 91.0] 91.3] 91.9 | 0.89 - 26.7 | 154 - 1 259.0 | 149.5
4 |55 IE2 464 | 85.2]86.4] 86.1 | 0.86 | 135 | 7.8 - | 1109 64.0 -

8()S(2) 65-125/4 3()P 65-125/4 MM 4T 55 IE3 451 [86.8[87.8] 88.1 | 093 | 121 | 7.0 - | 1164 ] 672 -
55 | 7.5 IE2 6,34 | 85.8|87.4] 87.3 | 0.88 - 104 | 6.0 - 83.2 | 48.0

3()5(2) 65-125/5.5 3()P 65-125/5.5 1305 | 55 | 75 IE3 6.24 | 88.0| 88.5] 89.2 | 0.90 - 100 | 58 - 89.0 | 514
3(.)S(Z) 65-125/7.5 3(.)P 65-125/7.5 75 | 10 IE3 8.35 | 88.6 | 89.2] 90.1 | 0.92 - 131 | 76 - | 1166 673
3(.)S(Z) 65-160/7.5 3(.)P 65-160/7.5 75 | 10 IE3 8.35 | 88.6 | 89.2| 90.1 | 0.92 - 131 | 76 - | 1166 673
3(.)S(Z) 65-160/9.2 3(.)P 65-160/9.2 | 132M | 9.2 | 12,5 IE3 10.17 | 88.6 | 89.8| 90.7 | 0.89 - 165 | 9.5 - | 166.7 | 96.2
3(.)S(Z) 65-160/11 3(.)P 65-160/11 1 | 15 IE3 1215|874 89.8| 91.2 | 0.89 - 19.7 | 114 - [ 179311035
3(.)S(Z) 65-160/15 3()P 65-160/15 | 160M [ 15 | 20 IE3 16.4691.0]91.3[ 91.9 | 0.89 - 26.7 | 15.4 - | 259.0 | 1495
3(.)S(Z) 65-200/15 3(.)P 65-200/15 15 | 20 IE3 16.4691.0]91.3[ 91.9 | 0.89 - 26.7 | 15.4 - | 259.0 | 1495
3(.)S(Z) 65-200/18.5 | 3(.)P 65-200/18.5 | 160L | 18.5 | 25 IE3 20.12[91.6[92.8] 92.4 | 0.88 - 33.0 [ 1941 - | 353.1]203.9
3(.)S(Z) 65-200/22 3(.)P 65-200/22 180 | 22 | 30 IE3 23.69[92.3]92.9] 92.9 | 0.90 - 38.0 | 22.0 - ] 361.0 ] 209.0
3LS 65-250/30 3LP 65-250/30 200 |30 [ 40 IE3 31.94|92.8]93.9] 94.0 | 0.89 - 51.8 | 30.0 - | 459.0 | 270.0
3LS 65-250/37 3LP 65-250/37 37 | 50 IE3 38.97| 93.0] 93.9] 93.8 | 0.90 - 62.5 | 36.0 - 1496.0 | 288.0
3LS 80-160/11 3LP 80-160/11 1 | 15 IE3 12.15| 87.4] 89.8| 91.2 | 0.89 - 197 | 114 - [179.3]1035
3LS 80-160/15R | 3LP 80-160/15R | 160M | 15 | 20 IE3 16.4691.0|91.3] 91.9 | 0.89 - 26.7 | 154 - 1 259.0 [ 149.5
3LS 80-160/15 3LP 80-160/15 15 | 20 IE3 16.4691.0| 91.3] 91.9 | 0.89 - 26.7 | 154 - 1 259.0] 1495
3LS 80-160/18.5 | 3LP 80-160/18.5 | 160L | 18.5 | 25 IE3 20.12[91.6]92.8] 92.4 | 0.88 - 33.0 [ 19.1 - | 353.1]203.9
3LS 80-200/22 3LP 80-200/22 180 | 22 | 30 IE3 23.69[92.3[92.9] 92.9 | 0.90 - 38.0 | 22.0 - | 361.0 ] 209.0
3LS 80-200/30 3LP 80-200/30 30 | 40 IE3 31.94|92.8]93.9] 94.0 | 0.89 - 51.8 | 30.0 - | 459.0 | 270.0
3LS 80-200/37 3LP 80-200/37 200 | 37 | 50 IE3 38.97|93.0|93.9] 93.8 | 0.90 - 62.5 | 36.0 - | 496.0 | 288.0
3LS 80-250/37 3LP 80-250/37 37 | 50 IE3 38.97|93.0|93.9] 93.8 | 0.90 - 62.5 | 36.0 - | 496.0 | 288.0
3LS 80-250/45 3LP 80-250/45 225 | 45 | 60 IE3 47.49[93.2[ 946 94.8 | 0.92 - 745 | 43.0 - | 633.0 366.0
3LS 80-250/55 3LP 80-250/55 250 | 55 | 75 IE3 58.30| 93.6 | 94.5] 94.4 | 0.90 - 93.5 | 54.0 - 1935.0 | 540.0

501

=TV T

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

TECHNICAL DATA 50Hz
Rev. Y
NOISE DATA 3(.)M
Pump type Power
) Loa- dB(A) *
Single Phase Three Phase [kW] | [HP]
3(.)M 32-125/1.1 M | 3(.)M(Z) 32-125/1.1 1.1 1.5
3(.)M 32-160/1.5M | 3(.)M(Z) 32-160/1.5 1.5 2.0 <70
3(.)M 32-160/2.2 M | 3(.)M(Z) 32-160/2.2 2.2 3.0
- 3(.)M(Z) 32-200/3.0 3.0 4.0 71
- 3(.)M(Z) 32-200/4.0 4.0 5.5
- 3(.)M(Z) 32-200/5.5 5.5 7.5 75
- 3(.)M(2) 32-200/7.5 7.5 10.0
3(. )M 40-125/1,5M | 3(.)M(Z) 40-125/1.5 1.5 2.0 <70
3(. )M 40-125/2.2 M | 3(.)M(Z) 40-125/2.2 2.2 3.0
- 3(.)M(Z) 40-160/3.0 3.0 4.0 71
- 3(.)M(Z) 40-160/4.0 4.0 55
- 3(.)M(2) 40-200/5.5 5.5 7.5 75
- 3(.)M(2) 40-200/7.5 7.5 10.0
- 3(.)M(Z) 40-200/11 11.0 | 15.0 80
3(. )M 50-125/2.2 M | 3(.)M(Z) 50-125/2.2 2.2 3.0 <70
- 3(.)M(Z) 50-125/3.0 3.0 4.0 71
- 3(.)M(Z) 50-125/4.0 4.0 5.5
- 3(.)M(Z) 50-160/5.5 5.5 7.5 75
- 3(.)M(Z) 50-160/7.5 7.5 10.0
- 3(.)M(Z) 50-200/9.2 9.2 125
- 3(.)M(Z) 50-200/11 11.0 | 15.0 80
- 3(.)M(Z) 50-200/15 15.0 | 20.0
- 3(.)M(Z) 65-125/4 4.0 5.5 71
- 3(.)M(Z) 65-125/5.5 5.5 7.5
- 3(.)M(Z) 65-125/7.5 7.5 10.0 75
- 3(.)M(Z) 65-160/7.5 7.5 10.0
- 3(.)M(Z) 65-160/9.2 9.2 12,5
- 3(.)M(Z) 65-160/11 11.0 | 15.0 80
- 3(.)M(Z) 65-160/15 15.0 | 20.0
- 3(.)M(Z) 65-200/15 15.0 | 20.0
- 3(.)M(Z) 65-200/18.5 18.5 | 25.0 83-82
- 3(.)M(Z) 65-200/22 22.0 | 30.0
- 3LM 80-160/11 11.0 | 15.0
3LM 80-160/15R 15.0 | 20.0 80
- 3LM 80-160/15 15.0 | 20.0
- 3LM 80-160/18.5 18.5 | 25.0 83-82
* Mean value of several measures at 1m distance around the pump.
Tolerance * 2.5 dB.
502

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA 50Hz
Rev. Y
NOISE DATA 3(.)S-3(.)P
Power
Pump type ng?:;r kw) | mey | eam 9BAYT

3(.)S(2) 32-125/1.1 3(.)P 32-125/1.1 80 1.1 1.5
3(.)S(2) 32-160/1.5 3(.)P 32-160/1.5 90S 1.5 2 <70
3(.)S(2) 32-160/2.2 3(.)P 32-160/2.2 90L 2.2 3
3(.)S(Z) 32-200/3.0 3(.)P 32-200/3.0 100L 3 4
3(.)S(2) 32-200/4.0 3(.)P 32-200/4.0 | 112M 4 5.5 <70
3(.)S(2) 32-200/5.5 3(.)P 32-200/5.5 | 132S | 5.5 7.5 79
3(.)S(2) 32-200/7.5 3(.)P 32-200/7.5 | 132S | 7.5 10
3(.)S(2) 40-125/1.5 3(.)P 40-125/1.5 90S 1.5 2
3(.)S(Z) 40-125/2.2 3(.)P 40-125/2.2 90L 2.2 3 <70
3(.)S(Z) 40-160/3.0 3(.)P 40-160/3.0 100L 3 4
3(.)S(Z) 40-160/4.0 3(.)P 40-160/4.0 | 112M 4 5.5 <70
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5 | 1328 | 5.5 7.5 72
3(.)S(2) 40-200/7.5 3(.)P 40-200/7.5 | 1328 | 7.5 10
3(.)S(Z) 40-200/11 3(.)P 40-200/11 160M 11 15 74
3(.)S(Z) 50-125/2.2 3(.)P 50-125/2.2 90L 2.2 3 <70
3(.)S(Z) 50-125/3.0 3(.)P 50-125/3.0 100L 3 4
3(.)S(Z) 50-125/4.0 3(.)P 50-125/4.0 | 112M 4 5.5 <70
3(.)S(Z) 50-160/5.5 3(.)P 50-160/5.5 | 132S | 5.5 7.5
3(.)S(Z) 50-160/7.5 3(.)P 50-160/7.5 | 132S | 7.5 10 72
3(.)S(Z) 50-200/9.2 3(.)P 50-200/9.2 | 132M | 9.2 12.5
3(.)S(Z) 50-200/11 3(.)P 50-200/11 160M 11 15 74
3(.)S(Z) 50-200/15 3(.)P 50-200/15 160M 15 20
3(.)S(2) 65-125/4 3(.)P 65-125/4 112M 4 5,5 <70
3(.)S(Z) 65-125/5.5 3(.)P 65-125/5.5 | 132S | 55 7.5
3(.)S(Z) 65-125/7.5 3(.)P 65-125/7.5 | 132S 75 10 72
3(.)S(2) 65-160/7.5 3(.)P 65-160/7.5 | 132S
3(.)S(2) 65-160/9.2 3(.)P 65-160/9.2 | 132M | 9.2 12.5
3(.)S(Z) 65-160/11 3(.)P 65-160/11 160M 11 15
3(.)S(2) 65-160/15 3(.)P 65-160/15 160M 15 20 74
3(.)S(Z) 65-200/15 3(.)P 65-200/15 160M
3(.)S(Z) 65-200/18.5 | 3(.)P 65-200/18.5 | 160L | 18,5 25
3(.)S(Z) 65-200/22 3(.)P 65-200/22 180 22 30 77
3LS 65-250/30 3LP 65-250/30 200 30 40 78
3LS 65-250/37 3LP 65-250/37 200 37 50
3LS 80-160/11 3LP 80-160/11 160M 11 15
3LS 80-160/15R | 3LP 80-160/15R | 160M 15 20 74
3LS 80-160/15 3LP 80-160/15 160M 15 20
3LS 80-160/18.5 | 3LP 80-160/18.5| 160L | 18,5 25
3LS 80-200/22 3LP 80-200/22 180 22 30 77
3LS 80-200/30 3LP 80-200/30 200 30 40
3LS 80-200/37 3LP 80-200/37 200 37 50 78
3LS 80-250/37 3LP 80-250/37 200 37 50
3LS 80-250/45 3LP 80-250/45 225 45 60 80
3LS 80-250/55 3LP 80-250/55 250 55 75 81
* Mean value of several measures at 1m distance around the pump.
Tolerance + 2.5 dB.
Sound pressure level of motor pumps with AEG

503

=TV T

EBARA PUMPS EUROPE S.p.A.



	Quantity =2 for version 80-160/15R, 80-160/15 and 80-160/18.5
	MECHANICAL SEAL (L version ø30-35)
	COUPLING
	FLEXIBLE COUPLING
	FITTINGS
	COUNTERFLANGE ZINCKED STEEL

	COUNTERFLANGE EN 1.4404 (AISI 316L) DN100
	GASKET
	FPM for L version





